National Testing Agency

Question Paper Name : Vyakaran Eng 12th June 2023 Shift 2
Subject Name : Vyakaran Eng
Creation Date : 2023-06-12 18:25:22
Duration : 120
Total Marks : 400
Display Marks: Yes

Vyakaran
Group Number : 1
Group Id : 920906136
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 400
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Part A

Section Id : 920906271
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906443
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090613670 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question that follows.(Q01-Q05)

Lizard island is only 30km off the far North Queensland coast and 250km north of
Cairns, the northern-most city in north-eastern Australia. The 1,012-hectare island is
spectacularly rugged with vegetation ranging from grassland to rainforest and
encompassing pandanus swamp, eucalypt woodland and mangroves. The most recent
discoverers of this island were Sir Sydney Williams and another north Queensland
businessmen, Mr. John Wilson, now a Brisbane share-broker. For several years from 1968,
they camped on lizard island for annual fishing holidays and in 1974, after obtaining a
Queensland government lease with other businessmen, built four cabins for guests. In the
next step of development in 1978, they raised the number of bungalows to eight, then to
fifteen in 1982, and in 1984, ultimately the complex was bought by the Queensland State
Government Insurance office.

The island is consistently visited by those who seem to be quite carefull about their
health. Each has all the facilities expected in such an elegant resort including well-stocked
minibar. It is because of this that Australian Prime Ministers for a decade or so have taken
heed, as they constantly retreat to this island to rest, relax and lick the wounds of office.
Since this island attracts people from all over the world, most of the time it remains
packed. One of the island resort's founders, Queensland aviation pioneer, Sir Sydney
Williams, affirms that a sturdy Arab Sheikh once came ashore from a chartered luxury
yacht and tried to book a suite for the night. When told the place was full he hastily
produced a cheque book and offered to buy it.

Sub questions

Question Number : 1 Question Id : 92090613671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Lizard island is situated nearest from :
(1) Morth Australia
(2) South Australia

(3) Morth Queensland coast
(4) Cairns

Options :



92090654001. 1
92090654002. 2
92090654003. 3
92090654004. 4

Question Number : 2 Question Id : 92090613672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following reasons prompted Arab Sheikh to buy the island?

(1)  He was impressed by the beauty of the island.
(2)  He wanted to stay there for a night.
(3) He felt offended due to refusal of accommodation.

(4) He wanted to bring in further developments in the island.

Options :

92090654005. 1
92090654006. 2
92090654007. 3
92090654008. 4

Question Number : 3 Question Id : 92090613673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true in the context of the passage?

(1) Lizard island has come up as a big tourist resort.
(2)  In the first step of development eight cabins were developed in the island.
(3) Lizard island has become a busy island.

(4)  Lizard island is full of greenery.

Options :

92090654009. 1
92090654010. 2
92090654011. 3
92090654012. 4

Question Number : 4 Question Id : 92090613674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What was the first and the foremost thing that stuck the discoverers for the development
of the island?

(A)  To build four cabins for guests.
(B) To associate Government offices.
(C)  To give a decorative look by growing vegetation.

(D)  To seek lease permission from the government.

Options :

92090654013. 1
92090654014. 2
92090654015. 3
92090654016. 4

Question Number : 5 Question Id : 92090613675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following discovered the Lizard island?

(1)  John Wilson and a Brisbane share broker.
(2) Brisbane share broker and a Queensland aviation pioneer
(3) Sydney Williams and a Queensland aviation pioneer

(4) South Queensland businessman and John Wilson.

Options :

92090654017. 1
92090654018. 2
92090654019. 3
92090654020. 4

Question Id : 92090613670 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage carefully and answer the question that follows.(Q01-Q05)

Lizard island is only 30km off the far North Queensland coast and 250km north of
Cairns, the northern-most city in north-eastern Australia. The 1,012-hectare island is
spectacularly rugged with vegetation ranging from grassland to rainforest and
encompassing pandanus swamp, eucalypt woodland and mangroves. The most recent
discoverers of this island were Sir Sydney Williams and another north Queensland
businessmen, Mr. John Wilson, now a Brisbane share-broker. For several years from 1968,
they camped on lizard island for annual fishing holidays and in 1974, after obtaining a
Queensland government lease with other businessmen, built four cabins for guests. In the
next step of development in 1978, they raised the number of bungalows to eight, then to
fifteen in 1982, and in 1984, ultimately the complex was bought by the Queensland State
Government Insurance office.

The island is consistently visited by those who seem to be quite carefull about their
health. Each has all the facilities expected in such an elegant resort including well-stocked
minibar. It is because of this that Australian Prime Ministers for a decade or so have taken
heed, as they constantly retreat to this island to rest, relax and lick the wounds of office.
Since this island attracts people from all over the world, most of the time it remains
packed. One of the island resort's founders, Queensland aviation pioneer, Sir Sydney
Williams, affirms that a sturdy Arab Sheikh once came ashore from a chartered luxury
yacht and tried to book a suite for the night. When told the place was full he hastily
produced a cheque book and offered to buy it.

Sub questions

Question Number : 1 Question Id : 92090613671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Lizard island is situated nearest from :

(1) Morth Australia
(2) South Australia
(3) Morth Queensland coast
(4) Cairns
Options :
92090654001. 1
92090654002. 2

92090654003. 3
92090654004. 4



Question Number : 2 Question Id : 92090613672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following reasons prompted Arab Sheikh to buy the island?

(1)  He was impressed by the beauty of the island.
(2)  Hewanted to stay there for a night.
(3) He felt offended due to refusal of accommodation.

(4) He wanted to bring in further developments in the island.

Options :

92090654005. 1
92090654006. 2
92090654007. 3
92090654008. 4

Question Number : 3 Question Id : 92090613673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true in the context of the passage?

(1)  Lizard island has come up as a big tourist resort.
(2)  In the first step of development eight cabins were developed in the island.
(3) Lizard island has become a busy island.

(4)  Lizard island is full of greenery.

Options :

92090654009. 1
92090654010. 2
92090654011. 3
92090654012. 4

Question Number : 4 Question Id : 92090613674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What was the first and the foremost thing that stuck the discoverers for the development
of the island?

(A)  To build four cabins for guests.
(B) To associate Government offices.
(C)  To give a decorative look by growing vegetation.

(D)  To seek lease permission from the government.

Options :

92090654013. 1
92090654014. 2
92090654015. 3
92090654016. 4

Question Number : 5 Question Id : 92090613675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following discovered the Lizard island?

(1)  John Wilson and a Brisbane share broker.
(2) Brisbane share broker and a Queensland aviation pioneer
(3) Sydney Williams and a Queensland aviation pioneer

(4) South Queensland businessman and John Wilson.

Options :

92090654017. 1
92090654018. 2
92090654019. 3
92090654020. 4

Question Id : 92090613670 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage carefully and answer the question that follows.(Q01-Q05)

Lizard island is only 30km off the far North Queensland coast and 250km north of
Cairns, the northern-most city in north-eastern Australia. The 1,012-hectare island is
spectacularly rugged with vegetation ranging from grassland to rainforest and
encompassing pandanus swamp, eucalypt woodland and mangroves. The most recent
discoverers of this island were Sir Sydney Williams and another north Queensland
businessmen, Mr. John Wilson, now a Brisbane share-broker. For several years from 1968,
they camped on lizard island for annual fishing holidays and in 1974, after obtaining a
Queensland government lease with other businessmen, built four cabins for guests. In the
next step of development in 1978, they raised the number of bungalows to eight, then to
fifteen in 1982, and in 1984, ultimately the complex was bought by the Queensland State
Government Insurance office.

The island is consistently visited by those who seem to be quite carefull about their
health. Each has all the facilities expected in such an elegant resort including well-stocked
minibar. It is because of this that Australian Prime Ministers for a decade or so have taken
heed, as they constantly retreat to this island to rest, relax and lick the wounds of office.
Since this island attracts people from all over the world, most of the time it remains
packed. One of the island resort's founders, Queensland aviation pioneer, Sir Sydney
Williams, affirms that a sturdy Arab Sheikh once came ashore from a chartered luxury
yacht and tried to book a suite for the night. When told the place was full he hastily
produced a cheque book and offered to buy it.

Sub questions

Question Number : 1 Question Id : 92090613671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Lizard island is situated nearest from :

(1) Morth Australia
(2) South Australia
(3) Morth Queensland coast
(4) Cairns
Options :
92090654001. 1
92090654002. 2

92090654003. 3
92090654004. 4



Question Number : 2 Question Id : 92090613672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following reasons prompted Arab Sheikh to buy the island?

(1)  He was impressed by the beauty of the island.
(2)  Hewanted to stay there for a night.
(3) He felt offended due to refusal of accommodation.

(4) He wanted to bring in further developments in the island.

Options :

92090654005. 1
92090654006. 2
92090654007. 3
92090654008. 4

Question Number : 3 Question Id : 92090613673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true in the context of the passage?

(1)  Lizard island has come up as a big tourist resort.
(2)  In the first step of development eight cabins were developed in the island.
(3) Lizard island has become a busy island.

(4)  Lizard island is full of greenery.

Options :

92090654009. 1
92090654010. 2
92090654011. 3
92090654012. 4

Question Number : 4 Question Id : 92090613674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What was the first and the foremost thing that stuck the discoverers for the development
of the island?
(A)  To build four cabins for guests.
(B) To associate Government offices.
(C)  To give a decorative look by growing vegetation.
(D)  To seek lease permission from the government.
Options :
92090654013. 1
92090654014. 2

92090654015. 3
92090654016. 4

Question Number : 5 Question Id : 92090613675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following discovered the Lizard island?

(1)  John Wilson and a Brisbane share broker.
(2) Brisbane share broker and a Queensland aviation pioneer
(3) Sydney Williams and a Queensland aviation pioneer

(4) South Queensland businessman and John Wilson.

Options :

92090654017. 1
92090654018. 2
92090654019. 3
92090654020. 4

Sub-Section Number : 2
Sub-Section 1d : 920906444
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090613676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given in order from the options given
below: Furrow irrigation is conducted ___ creating small parallel channels the field
length __the direction predominant slope.

(1) by along, in of
(2) by, in for, of

(3) by, on, with, of
(4) by, on, along, of

Options :

92090654021. 1
92090654022. 2
92090654023. 3
92090654024. 4

Question Number : 6 Question Id : 92090613676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: Furrow irrigation is conducted ___ creating small parallel channels the field
length __the direction predominant slope.

(1) by along, in of
(2) by, in for, of

(3) by, on, with, of
(4) by, on, along, of

Options :

92090654021. 1
92090654022. 2
92090654023. 3
92090654024. 4

Question Number : 6 Question Id : 92090613676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given in order from the options given
below: Furrow irrigation is conducted ___ creating small parallel channels the field
length __the direction predominant slope.

(1) by along, in of
(2) by, in for, of

(3) by, on, with, of
(4) by, on, along, of

Options :

92090654021. 1
92090654022. 2
92090654023. 3
92090654024. 4

Question Number : 7 Question Id : 92090613677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice. 'The boys have been rewarded by the principal'.

(1)  The principal has awarded the boys.
(2)  The principal has rewarded the boys
(3)  The boys are rewarded by the principal
(4)  The principal rewarded the boys.

Options :

92090654025. 1
92090654026. 2
92090654027. 3
92090654028. 4

Question Number : 7 Question Id : 92090613677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Change voice. 'The boys have been rewarded by the principal’.

(1)  The principal has awarded the boys.
(2)  The principal has rewarded the boys
(3)  The boys are rewarded by the principal
(4)  The principal rewarded the boys.

Options :

92090654025. 1
92090654026. 2
92090654027. 3
92090654028. 4

Question Number : 7 Question Id : 92090613677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice. 'The boys have been rewarded by the principal’.

(1)  The principal has awarded the boys.
(2)  The principal has rewarded the boys
(3)  The boys are rewarded by the principal
(4)  The principal rewarded the boys.

Options :

92090654025. 1
92090654026. 2
92090654027. 3
92090654028. 4

Question Number : 8 Question Id : 92090613678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate indirect speech for the direct speech given below.
She said "you see, you cannot meet the boss”.

(1) She said that | can't meet the boss.
(2) She told me that | could not meet the boss.
(3)  She says “you cannot meet the boss”.

(4)  "you cannot meet the boss” she says.

Options :

92090654029. 1
92090654030. 2
92090654031. 3
92090654032. 4

Question Number : 8 Question Id : 92090613678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate indirect speech for the direct speech given below.
She said "you see, you cannot meet the boss".

(1) She said that | can't meet the boss.
(2) She told me that | could not meet the boss.
(3)  She says “you cannot meet the boss".

(4)  "you cannot meet the boss"” she says.

Options :

92090654029. 1
92090654030. 2
92090654031. 3
92090654032. 4

Question Number : 8 Question Id : 92090613678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate indirect speech for the direct speech given below.
She said "you see, you cannot meet the boss”.

(1) She said that | can't meet the boss.
(2) She told me that | could not meet the boss.
(3)  She says “you cannot meet the boss”.

(4)  "you cannot meet the boss” she says.

Options :

92090654029. 1
92090654030. 2
92090654031. 3
92090654032. 4

Question Number : 9 Question Id : 92090613679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of strange or foreign people, customs etc.

(1)  Agrophobia
(2) Xenophobia
(3 Arachnophobia
(4) Aerophobia

Options :

92090654033. 1
92090654034. 2
92090654035. 3
92090654036. 4

Question Number : 9 Question Id : 92090613679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fear of strange or foreign people, customs etc.

(1) Agrophobia
(2) Xenophobia
(3)  Arachnophobia
(4) Aerophobia

Options :

92090654033. 1
92090654034. 2
92090654035. 3
92090654036. 4

Question Number : 9 Question Id : 92090613679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of strange or foreign people, customs etc.

(1) Agrophobia
(2) Xenophobia
(3) Arachnophobia
(4) Aerophobia

Options :

92090654033. 1
92090654034. 2
92090654035. 3
92090654036. 4

Question Number : 10 Question Id : 92090613680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



You are talking about the poorest and the most disadvantaged people in the country. To
play ducks and drakes with their service is reprehensible.

The underlined idiom in the above sentence means: -

(1)  to treat someone badly by being dishonest with them
(2) to show anger and criticism towards someone
(3) to take decisions without considering their feelings

(4) to increase the pressure on someone to make them do what you want them to

Options :

92090654037. 1
92090654038. 2
92090654039. 3
92090654040. 4

Question Number : 10 Question Id : 92090613680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

You are talking about the poorest and the most disadvantaged people in the country. To
play ducks and drakes with their service is reprehensible.

The underlined idiom in the above sentence means: -

(1)  to treat someone badly by being dishonest with them
(2) to show anger and criticism towards someone
(3) to take decisions without considering their feelings

(4) to increase the pressure on someone to make them do what you want them to

Options :

92090654037. 1
92090654038. 2
92090654039. 3
92090654040. 4

Question Number : 10 Question Id : 92090613680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



You are talking about the poorest and the most disadvantaged people in the country. To
play ducks and drakes with their service is reprehensible.

The underlined idiom in the above sentence means: -

(1)  to treat someone badly by being dishonest with them
(2) to show anger and criticism towards someone
(3) to take decisions without considering their feelings

(4) to increase the pressure on someone to make them do what you want them to

Options :

92090654037. 1
92090654038. 2
92090654039. 3
92090654040. 4

Question Number : 11 Question Id : 92090613681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If m = 2, n = 3, then the value of 12mZn-3mn? is:

(1) 92
(2) 88
(3) 94
(4) 90
Options :

92090654041. 1
92090654042. 2
92090654043. 3
92090654044. 4

Question Number : 11 Question Id : 92090613681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If m = 2, n = 3, then the value of 12mZn-3mn? is:

(1) 92
(2) 88
(3) 94
(4) 90
Options :

92090654041. 1
92090654042. 2
92090654043. 3
92090654044. 4

Question Number : 11 Question Id : 92090613681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If m = 2, n = 3, then the value of 12m2n-3mn? is:

(1) 92
(2) 88
(3) 94
(4) 90
Options :

92090654041. 1
92090654042. 2
92090654043. 3
92090654044. 4

Question Number : 12 Question Id : 92090613682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Richa purchased a pen at 4/5" of its marked price. She then enhanced the marked price
by 20% and sold it at the new marked price. What is Richa's profit percentage?

(m 25%
(2) 50%
(3) 40%
(4) 60%
Options :

92090654045. 1
92090654046. 2
92090654047. 3
92090654048. 4

Question Number : 12 Question Id : 92090613682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Richa purchased a pen at 4/5" of its marked price. She then enhanced the marked price
by 20% and sold it at the new marked price. What is Richa's profit percentage?

(m 25%
(2) 50%
(3) 40%
(4) 60%
Options :

92090654045. 1
92090654046. 2
92090654047. 3
92090654048. 4

Question Number : 12 Question Id : 92090613682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Richa purchased a pen at 4/5" of its marked price. She then enhanced the marked price
by 20% and sold it at the new marked price. What is Richa's profit percentage?

(m 25%
(2) 50%
(3) 40%
(4) 60%
Options :

92090654045. 1
92090654046. 2
92090654047. 3
92090654048. 4

Question Number : 13 Question Id : 92090613683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectively. Both the
pipes are opened together but after 4 minutes, pipe A is turned off. What is the total time
taken to fill the tank?

(1) 14 min 40 sec (2) 12 min 30 sec
(3) 11 min 45 sec (4) 10 min 20 sec
Options :

92090654049. 1
92090654050. 2
92090654051. 3
92090654052. 4

Question Number : 13 Question Id : 92090613683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectively. Both the
pipes are opened together but after 4 minutes, pipe A is turned off. What is the total time
taken to fill the tank?

(1) 14 min 40 sec (2) 12 min 30 sec
(3) 11 min 45 sec (4) 10 min 20 sec



Options :

92090654049. 1
92090654050. 2
92090654051. 3
92090654052. 4

Question Number : 13 Question Id : 92090613683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectively. Both the
pipes are opened together but after 4 minutes, pipe A is turned off. What is the total time
taken to fill the tank?

(1) 14 min 40 sec (2) 12 min 30 sec
(3) 11 min 45 sec (4) 10 min 20 sec
Options :

92090654049. 1
92090654050. 2
92090654051. 3
92090654052. 4

Question Number : 14 Question Id : 92090613684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A large cube is formed by melting three solid metallic cubes of sides 3cm, 4cm and 5cm
respectively. What is the ratio of the sum of the surface areas of the given cubes and that
of the new cube?

(1 21 (2 32
(3) 25:18 (4) 2720
Options :

92090654053. 1
92090654054. 2
92090654055. 3
92090654056. 4

Question Number : 14 Question Id : 92090613684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A large cube is formed by melting three solid metallic cubes of sides 3cm, 4cm and 5cm
respectively. What is the ratio of the sum of the surface areas of the given cubes and that
of the new cube?

(1) 2:1 (2) 3:2
(3) 25:18 4) 27:20
Options :

92090654053. 1
92090654054. 2
92090654055. 3
92090654056. 4

Question Number : 14 Question Id : 92090613684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A large cube is formed by melting three solid metallic cubes of sides 3cm, 4cm and 5cm
respectively. What is the ratio of the sum of the surface areas of the given cubes and that
of the new cube?

(1) 2:1 (2) 32
(3) 25:18 (4) 27:20
Options :

92090654053. 1
92090654054. 2
92090654055. 3
92090654056. 4

Question Number : 15 Question Id : 92090613685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Jayant invested a sum of Rs. 65,000 in two schemes and received Rs.7275 as interest after
2 years. In scheme | simple interest is payable at 6% per annum and in scheme Il
compound interest is payable at 5% per annum Find the ratio of sums he invested in
scheme | and scheme II.

(1) 1:1
(2) 76
(3) 5:4
(4) 34
Options :

92090654057. 1
92090654058. 2
92090654059. 3
92090654060. 4

Question Number : 15 Question Id : 92090613685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jayant invested a sum of Rs. 65,000 in two schemes and received Rs.7275 as interest after
2 years. In scheme | simple interest is payable at 6% per annum and in scheme Il
compound interest is payable at 5% per annum Find the ratio of sums he invested in
scheme | and scheme I.

(1) 1:1
(2) 76
(3) 5:4
(4) 34
Options :

92090654057. 1
92090654058. 2
92090654059. 3
92090654060. 4

Question Number : 15 Question Id : 92090613685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Jayant invested a sum of Rs. 65,000 in two schemes and received Rs.7275 as interest after
2 years. In scheme | simple interest is payable at 6% per annum and in scheme Il

compound interest is payable at 5% per annum Find the ratio of sums he invested in
scheme | and scheme Il.

(1) 1:1
(2) 76
(3) 5:4
(4) 34
Options :

92090654057. 1
92090654058. 2
92090654059. 3
92090654060. 4

Question Number : 16 Question Id : 92090613686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the figure will complete pattern of fig (x)?

Fig (X)

(1) (2)

LN

(3) (4)

Options :

92090654061. 1
92090654062. 2
92090654063. 3
920906540064. 4



Question Number : 16 Question Id : 92090613686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the figure will complete pattern of fig (x)?

Fig (X)

(1) (2)

]

3) \ )

Options :

92090654061. 1
92090654062. 2
92090654063. 3
92090654064. 4

Question Number : 16 Question Id : 92090613686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the figure will complete pattern of fig (x)?

Fig (X)
(1) (2)
(3) (4)

Options :

92090654061. 1
92090654062. 2
92090654063. 3
92090654064. 4

Question Number : 17 Question Id : 92090613687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a painted cube is cut into 125 small identical cubes, how many smaller cubes have
no face painted?

(). 27 (2) 64
3 o 4) 16
Options :

92090654065. 1
92090654066. 2
92090654067. 3
92090654068. 4

Question Number : 17 Question Id : 92090613687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When a painted cube is cut into 125 small identical cubes, how many smaller cubes have
no face painted?

(1) 27 (2) o4
3) 8 4) 16
Options :

92090654065. 1
92090654066. 2
92090654067. 3
92090654068. 4

Question Number : 17 Question Id : 92090613687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a painted cube is cut into 125 small identical cubes, how many smaller cubes have
no face painted?

(1) 27 (2) o4
3) 8 4) 16
Options :

92090654065. 1
92090654066. 2
92090654067. 3
92090654068. 4

Question Number : 18 Question Id : 92090613688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given series: 12, 30, 120, 460, 1368, 2730

Observe the series given and by establishing the same relation in senes 16, (A), (B), (C), (D),
(E), find what will come in place of (D)?

(1) 1384
(2) 2642
(3) 2808
(4) 1988

Options :



92090654069. 1
92090654070. 2
92090654071. 3
92090654072. 4

Question Number : 18 Question Id : 92090613688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given series: 12, 30, 120, 460, 1368, 2730

Observe the series given and by establishing the same relation in senes 16, (A), (B), (C), (D),
(E), find what will come in place of (D)?

(1) 1384
(2) 2642
(3) 2808
(4) 1988
Options :

92090654069. 1
92090654070. 2
92090654071. 3
92090654072. 4

Question Number : 18 Question Id : 92090613688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given series: 12, 30, 120, 460, 1368, 2730

Observe the series given and by establishing the same relation in senes 16, (A), (B), (C), (D),
(E), find what will come in place of (D)?

(1) 1384
(2) 2642
(3) 2808
(4) 1988
Options :

92090654069. 1
92090654070. 2
92090654071. 3
92090654072. 4



Question Number : 19 Question Id : 92090613689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the pair that has the same relationship as the original pair of words given below.
Diva: opera

(1)  Thespian: Play

(2) Conductor: Bus
(3) Director: Drama
(4)  Producer: Theater

Options :

92090654073. 1
92090654074. 2
92090654075. 3
92090654076. 4

Question Number : 19 Question Id : 92090613689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the pair that has the same relationship as the original pair of words given below.
Diva: opera

(1)  Thespian: Play

(2) Conductor: Bus
(3) Director: Drama
(4)  Producer: Theater

Options :

92090654073. 1
92090654074. 2
92090654075. 3
92090654076. 4

Question Number : 19 Question Id : 92090613689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the pair that has the same relationship as the original pair of words given below.
Diva: opera

(1)  Thespian: Play

(2) Conductor: Bus
(3) Director: Drama
(4) Producer: Theater

Options :

92090654073. 1
92090654074. 2
92090654075. 3
92090654076. 4

Question Number : 20 Question Id : 92090613690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X is facing east, he turns 100° in the clockwise direction and then 145° in the anti-
clockwise direction. Which direction X is facing now?

(m East (2) MNorth-East
(3) MNorth (4) South-West
Options :

92090654077. 1
92090654078. 2
92090654079. 3
92090654080. 4

Question Number : 20 Question Id : 92090613690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X is facing east, he turns 100° in the clockwise direction and then 145° in the anti-
clockwise direction. Which direction X is facing now?

(1 East (2) MNorth-East
(3) Morth (4) South-West
Options :

92090654077. 1



92090654078. 2
92090654079. 3
92090654080. 4

Question Number : 20 Question Id : 92090613690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X is facing east, he turns 100° in the clockwise direction and then 145° in the anti-
clockwise direction. Which direction X is facing now?

(1 East (2) MNorth-East
(3) MNorth (4) South-West
Options :

92090654077. 1
92090654078. 2
92090654079. 3
92090654080. 4

Question Number : 21 Question Id : 92090613691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Air Force Day is celebrated every year on ?

(1) 8 Oct (2) 8 Sept

(3) 8Aug (4) 8Nov
Options :

92090654081. 1
92090654082. 2
92090654083. 3
92090654084. 4

Question Number : 21 Question Id : 92090613691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indian Air Force Day is celebrated every year on ?

(1) 80«ct (2) 8Sept
(3) 8 Aug (4) & Nov
Options :

92090654081. 1
92090654082. 2
92090654083. 3
92090654084. 4

Question Number : 21 Question Id : 92090613691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Air Force Day is celebrated every year on ?

(1) 80«ct (2) 8 Sept

(3) 8 Aug (4) & Nov
Options :

92090654081. 1
92090654082. 2
92090654083. 3
92090654084. 4

Question Number : 22 Question Id : 92090613692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The statements which are correct are:
(A)  Indian system of governance has federal structure. It is a three tiered system, each
tier having executive functions.

(B) According to the constitution of India, central government is the highest executive
body of India and the first tier of system.

(C)  State Governments represent second tier and are managed by ruling governments
in each state but they have no executive powers.

(D)  Third tier is local level governance, only of panchayat.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (A) and (B) only
(3) (B) and (D) only
(4)  (A), (B) and (D) only

Options :

92090654085. 1
92090654086. 2
92090654087. 3
92090654088. 4

Question Number : 22 Question Id : 92090613692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The statements which are correct are:
(A)  Indian system of governance has federal structure. It is a three tiered system, each
tier having executive functions.

(B) According to the constitution of India, central government is the highest executive
body of India and the first tier of system.

(C)  State Governments represent second tier and are managed by ruling governments
in each state but they have no executive powers.

(D)  Third tier is local level governance, only of panchayat.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (A) and (B) only
(3) (B) and (D) only
(4)  (A), (B) and (D) only

Options :

92090654085. 1
92090654086. 2
92090654087. 3
92090654088. 4

Question Number : 22 Question Id : 92090613692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The statements which are correct are:
(A)  Indian system of governance has federal structure. It is a three tiered system, each
tier having executive functions.

(B) According to the constitution of India, central government is the highest executive
body of India and the first tier of system.

(C)  State Governments represent second tier and are managed by ruling governments
in each state but they have no executive powers.

(D)  Third tier is local level governance, only of panchayat.

Choose the correct answer from the options given below :

(M (A), (B) and (C) only
(2) (A) and (B) only
(3) (B) and (D) only
(4)  (A), (B) and (D) only

Options :

92090654085. 1
92090654086. 2
92090654087. 3
92090654088. 4

Question Number : 23 Question Id : 92090613693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nethanna Bima' is flagship scheme of which Indian State?

(1) Karnataka (2) Tamilnadu
(3)  Andhra Pradesh (4) Telangana
Options :

92090654089. 1
92090654090. 2
92090654091. 3
92090654092. 4

Question Number : 23 Question Id : 92090613693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nethanna Bima' is flagship scheme of which Indian State?

(1) Karnataka (2) Tamilnadu
(3)  Andhra Pradesh (4) Telangana
Options :

92090654089. 1
92090654090. 2
92090654091. 3
92090654092. 4

Question Number : 23 Question Id : 92090613693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nethanna Bima' is flagship scheme of which Indian State?

(1) Karnataka (2) Tamilnadu
(3) Andhra Pradesh (4) Telangana
Options :

92090654089. 1
92090654090. 2
92090654091. 3
92090654092. 4

Question Number : 24 Question Id : 92090613694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement | : Corporate tax is an indirect tax which is levied on company's profit. It
is imposed on registered companies and corporation.

Statement || : It is calculated on profits before interest and allowance (i.e. capital
allowance) have been deducted.

In the light of the above statements, choose the correct answer from the options given
below:

4] Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false
(4) Statement | is false but Statement Il is true

Options :

92090654093. 1

92090654094. 2

92090654095. 3
92090654096. 4

Question Number : 24 Question Id : 92090613694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : Corporate tax is an indirect tax which is levied on company's profit. It
Is imposed on registered companies and corporation.

Statement || : It is calculated on profits before interest and allowance (i.e. capital
allowance) have been deducted.

In the light of the above statements, choose the correct answer from the options given
below:

(1 Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement Il is true



Options :

92090654093. 1
92090654094. 2
92090654095. 3
92090654096. 4

Question Number : 24 Question Id : 92090613694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : Corporate tax is an indirect tax which is levied on company's profit. It
Is imposed on registered companies and corporation.

Statement || : It is calculated on profits before interest and allowance (i.e. capital
allowance) have been deducted.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090654093. 1
92090654094. 2
92090654095. 3
92090654096. 4

Question Number : 25 Question Id : 92090613695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Fairs & festivals States
(A) MNada Habba () Kerala
(B) Vishu ()  Karnataka
(C) Rath Yatra ()  Himachal Pradesh
(D) Chaitraul (IV) Odessa

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(), (C)-(1v), (D)-(1)
(2)  (A)-(). (B)-(I), (C)-(IV), (D)-(1I)
(3)  (A)-(V), (B)-(IN), (O)-(1), (D)-(1)
(4)  (A)-(m), (B)-(1v), (O)-(1), (D)-(lI)

Options :

92090654097. 1
92090654098. 2
92090654099. 3
92090654100. 4

Question Number : 25 Question Id : 92090613695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Fairs & festivals States
(A) MNada Habba () Kerala
(B) Vishu ()  Karnataka
(C) Rath Yatra ()  Himachal Pradesh
(D) Chaitraul (IV) Odessa

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(), (C)-(1v), (D)-(1)
(2)  (A)-(). (B)-(I), (C)-(IV), (D)-(1I)
(3)  (A)-(V), (B)-(IN), (O)-(1), (D)-(1)
(4)  (A)-(m), (B)-(1v), (O)-(1), (D)-(lI)

Options :

92090654097. 1
92090654098. 2
92090654099. 3
92090654100. 4

Question Number : 25 Question Id : 92090613695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Fairs & festivals States
(A) MNada Habba () Kerala
(B) Vishu ()  Karnataka
(C) Rath Yatra ()  Himachal Pradesh
(D) Chaitraul (IV) Odessa

Choose the correct answer from the options given below:

(1) (A=), (B)-(1, (C)-(IV), (D)-(1)

(2) (A=), (B)-(1), (O)-(IV), (D)-(111)

(3)  (A)-(V), (B)-(IN), (O)-(11), (D)-(1)

(4)  (A)-(), (B)-(IV), (O-(1), (D)-(1)
Options :

92090654097. 1
92090654098. 2
92090654099. 3
92090654100. 4

Part B: Vyakaran

Section Id : 920906272
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1d : 920906445
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090613696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fa gl faufea: IfRa-
1. |
2. ugH
3. Wl
4. Tgdf
Options :

92090654101. 1
92090654102. 2
92090654103. 3
92090654104. 4

Question Number : 26 Question Id : 92090613696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fa gl faufea: IfRa-
1. |
2. ugH
3. Wl
4. q9gdf
Options :

92090654101. 1
92090654102. 2
92090654103. 3
92090654104. 4

Question Number : 26 Question Id : 92090613696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. HH

2. U

3. wd

4. 9gdf
Options :

92090654101. 1
92090654102. 2
92090654103. 3
92090654104. 4

Question Number : 27 Question Id : 92090613697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BAIYd: HH 34 b G UHI0N?

1. HHU

2. FHydfcdad &

3. i g

4.  HHYIIA:
Options :

92090654105. 1
92090654106. 2
92090654107. 3
92090654108. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BAIYd: HH 34 b G UHI0N?

1. HHU

2. FHydfcdad &

3. i g

4.  HHYIIA:
Options :

92090654105. 1
92090654106. 2
92090654107. 3
92090654108. 4

Question Number : 27 Question Id : 92090613697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BAId: HH 344 [ G UH0R?

1. SHuE

2. FHydidad &H

3. H fgdma

4. SHYGSHML:
Options :

92090654105. 1
92090654106. 2
92090654107. 3
92090654108. 4

Question Number : 28 Question Id : 92090613698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIUSHEH] BaAIRAH fdh gHH?
1. ddUR:
2, way
3. hd JURY 3fd 3T
4. HAQRy: AUR:

Options :

92090654109. 1
92090654110. 2
92090654111. 3
92090654112. 4

Question Number : 28 Question Id : 92090613698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIUSHEH] BoAIRAH fdh garH?
1. dUR:
2. Hay

3. hd AYRY 3 3WaH
4.  HACRP: AUR:

Options :

92090654109. 1
92090654110. 2
92090654111. 3
92090654112. 4

Question Number : 28 Question Id : 92090613698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 AMR:

2. WuH

3. hd JURY 3fd 3T

4. HAQRy: AUR:
Options :

92090654109. 1
92090654110. 2
92090654111. 3
92090654112. 4

Question Number : 29 Question Id : 92090613699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
314 HYTEIH A
DHYTH—| : SIfEaHd SUSRIsS: HIgHSI: |
HYTH —I| : ATTRIA JUCRIIss: HUTTSI: |
SUGFIHYTEIR I Ugtidbedy TR Rd-
1. BYTH —I, YTH —II Afd IHT 1Y
2. DYTH I, PYTH —I| Afd IHTH 31y |
3. BYTH —| WY, TR HUTH —I 3RTY
4. HYTH | Y U= HYTH —II WY

Options :

92090654113. 1
92090654114. 2
92090654115. 3
92090654116. 4

Question Number : 29 Question Id : 92090613699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y: HYTgIH A

HYTH—|  SlEaHd IUSRIRIS: HIdHST: |
DHYTH —I| AT IUCRIIeS: HIUTHSI: |
SUYFIH YT HTdldh Yediddhedy TYfayw -

1. DYTH —|, HYAH —I dfd I Ty

2. DYTH I, FYTH —I| A IHTH 31TY |
3. HYTH | GIY, R HYAH —II 3Ty
4. HYTH —| SHUTY U] FYUAH —II Y

Options :
92090654113. 1
92090654114. 2

92090654115. 3
92090654116. 4

Question Number : 29 Question Id : 92090613699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31Y: PYTEUH T
PYTH—I . Sif&and IUSRes: HITHS: |
HYTH —I| o ATRIA JUCRINISS: HUTISI: |
SUEISUAGIR el Uediadmedy Fafrdga Rigd-
1. HYTH—|, FYTH —1 a3 1Y
2. DYTH —I, PYTH —I| Afd IHTH 31TY |
3. DYTH —| WY TR HYTH —II 1Y
4. HYTH —| Y TRy HYTH —II Y

Options :

92090654113. 1
92090654114. 2
92090654115. 3
92090654116. 4



Question Number : 30 Question Id : 92090613700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3{Y: ST M
HYAH —| . gl 0d rerdry: Hid: |
HUTH Il :  JGHUME J ST HiE|
SUYFIHUTEIR TP Uediddedy Iqfag fgd-
1. SYTH —I, YTH —II Ffd IHT AT
2. BYTH —|, FYTH —I Tl IHTH ST |
3. HYTH —| WY, TR HYTH I 3Ty
4. HYTH —| AT U FYAH —II 1Y

Options :

92090654117. 1
92090654118. 2
92090654119. 3
92090654120. 4

Question Number : 30 Question Id : 92090613700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3{e: HYTEUH K
HYTH —| . AUl ud srerar: $i:|
HYTH Il :  JGISHOMHE A ST HE|
UG SMab ey Fqfard fRd-
1. HYTH —|, BYTH —1 I I 1Y
2. BYAH —I, FYTH —II I IHTH 31 |
3. HYAH —| Y, TR DYTH —II 3RTY
4, BYTH —| AT G YTH —II WY

Options :



92090654117. 1
92090654118. 2
92090654119. 3
92090654120. 4

Question Number : 30 Question Id : 92090613700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3{e: HYTEUH K
HYTH — . Ao ud srerar: S|
HYTH—Il ;IS A ST HE|
SUFb T el et ey Fufiae fgd-
1. HYTH —|, DY —1 I I 1Y
2. BYTH —I, FYTH —I AT IHTH 3ATY |
3. DYTH —I TIY TR HYTH —I 31y

4. HYTH — Y Rg FYTH —I1 WY

Options :

92090654117. 1
92090654118. 2
92090654119. 3
92090654120. 4

Question Number : 31 Question Id : 92090613701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | HETHTSIE U () | TR
(B) | MfHAgUSTaeErdt ay | gerara:

© |memEETddiftE | ) | HgeR:
(D) | HETHEIVGIY: (v) | Fae
efiferREd fasety S -

1. (A (B)D): (C-(); (D)HIV)

2. (A (B (C-(); (D}(IV)
3. (A); (BYHD; (CH(1); (DHIV)

4. (A=) (B)-(1); (C)-(V); (D))

Options :

92090654121. 1
92090654122. 2
92090654123. 3
92090654124. 4

Question Number : 31 Question Id : 92090613701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | HETHTSIE U () | TR
(B) | MfHAgUSTaeErdt ay | gerara:

© |memEETddiftE | ) | HgeR:
(D) | HETHEIVGIY: (v) | Fae
efiferREd fasety S -

1. (A (B)D): (C-(); (D)HIV)

2. (A (B (C-(); (D}(IV)
3. (A); (BYHD; (CH(1); (DHIV)

4. (A=) (B)-(1); (C)-(V); (D))

Options :

92090654121. 1
92090654122. 2
92090654123. 3
92090654124. 4

Question Number : 31 Question Id : 92090613701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | HETHTSIE U () | TR
(B) | MfHAgUSTaeErdt ay | gerara:

© |memEETddiftE | ) | HgeR:
(D) | HETHEIVGIY: (v) | Fae
efiferREd fasety S -

1. (A (B)D): (C-(); (D)HIV)

2. (A (B (C-(); (D}(IV)
3. (A); (BYHD; (CH(1); (DHIV)

4. (A=) (B)-(1); (C)-(V); (D))

Options :

92090654121. 1
92090654122. 2
92090654123. 3
92090654124. 4

Question Number : 32 Question Id : 92090613702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | ST () | BYBURRIAAT
(B) | PRURITREH (1) | SgATCrdas &
(C) | SUEHEIRGH | (1) | F=ayEi dgETr:

(D) | TIETHEIREH (V) | IeeRYTE:
efferad fasey S fRd-

T (A); (B)HD); (C(1); (D)HIV)

2. (A-); (B ()= (D-(IV)
3. (A(I); (BYH1): (CH): (DH(IV)

4. (A (B)1); (C-(1V); (DY)

Options :

92090654125. 1
92090654126. 2
92090654127. 3
92090654128. 4

Question Number : 32 Question Id : 92090613702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | ST () | BYBURRIAAT
(B) | PRURITREH (1) | SgATCrdas &
(C) | SUEHEIRGH | (1) | F=ayEi dgETr:

(D) | TIETHEIREH (V) | IeeRYTE:
efferad fasey S fRd-

T (A); (B)HD); (C(1); (D)HIV)

2. (A-); (B ()= (D-(IV)
3. (A(I); (BYH1): (CH): (DH(IV)

4. (A (B)1); (C-(1V); (DY)

Options :

92090654125. 1
92090654126. 2
92090654127. 3
92090654128. 4

Question Number : 32 Question Id : 92090613702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | FHETGIH (I) | PPVl
(B) | PRURIIREH (1) | Fgdiaad o
(C) | SHUTSHHEIREH iy | TeayfEi v

(D) | THEHEIREH | (IV) | WeRdTe:
efferad fasey S fRd-

1. (A (B0 (C-(1); (DHIV)

2. (A-); (B ()= (D-(IV)
3. (A(I); (BYH1): (CH): (DH(IV)

4. (A (B)1); (C-(1V); (DY)

Options :

92090654125. 1
92090654126. 2
92090654127. 3
92090654128. 4

Question Number : 33 Question Id : 92090613703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3{%: HYgd UG | ThH AHHBYAH (A), fgdid § 7 RUA (R)
HHHYTH (A) : BOIMIRIHE AIR: Td GUH|
HRUM (R) . AR B HIard|
ST YTEU HTeh Yeaiddedy SHfIa agd-
1. (A) T (R) 34T TTH; (R), (A) T H1Y ST H |
2. (A) T (R) SHT TOH; (R), (A) TR 1Y SRS A |

3. (A) 9dH, W (R) STHUH |
4. (A) HHIH U (R) HIH



Options :

92090654129. 1
92090654130. 2
92090654131. 3
92090654132. 4

Question Number : 33 Question Id : 92090613703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{%: HYgd UG | ThH AHHBYAH (A), fgdid § 7 RUA (R)

HUHYTH (A) : FAAMRIAHY AMR: Td JeHH|

BHRUMH (R) . HURY basB @M |

SUHRIGUTGI SHdld Uedidd ey JHfRago f&a-
1. (A) T (R) 34T TTH; (R), (A) T H1Y ST H |
2. (A) T (R) SHT TOH; (R), (A) TR 1Y SRS A |
3. (A) HdOH, W (R) SHTH |
4. (A) UIH T (R) §UH

Options :

92090654129. 1
92090654130. 2
92090654131. 3
92090654132. 4

Question Number : 33 Question Id : 92090613703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31: BTG T | bW SifHBy=H (A), Bdid g T8 HRUM (R)
UHYAH (A) : TOUIRTIHE SUTIR: T YTH|
BHRUH (R) . HURE Bas-b @M |
SUGFIGYTEI AP Heaiddedy SHRayH R
1. (A)dYl (R) 34T TOH; (R), (A) T 1Y AR B |
2. (A)TYI (R) IHT TGH; (R), (A) TR 1Y SREA] AN |

3. (A)UdH, Ui+ (R) (HIH |
4. (A) MHIOH U (R) HUH

Options :

92090654129. 1
92090654130. 2
92090654131. 3
92090654132. 4

Question Number : 34 Question Id : 92090613704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{UTT ATH &2
1. SMIqR:
2.  HHER:
3. JUE:
4, fawdw:
Options :

92090654133. 1
92090654134. 2
92090654135. 3
92090654136. 4

Question Number : 34 Question Id : 92090613704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 3ME=:

2.  HHEwE:

3. JUE:

4, fazem:
Options :

92090654133. 1
92090654134. 2
92090654135. 3
92090654136. 4

Question Number : 34 Question Id : 92090613704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S{UTT ATH &2
1. SEE:
2. HHEHE:
3. JUE:
4, fazaw:
Options :

92090654133. 1
92090654134. 2
92090654135. 3
92090654136. 4

Question Number : 35 Question Id : 92090613705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TS 3 HUTTH?

1. Wl SdeRIq

2. HHEH[d

3. HEHIq

4. fagemn
Options :

92090654137. 1
92090654138. 2
92090654139. 3
92090654140. 4

Question Number : 35 Question Id : 92090613705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TITH B 3T PUHFTH?
1. VI SHdgRIq
2. HEHd
3. HEHId
4, faaem
Options :

92090654137. 1
92090654138. 2
92090654139. 3
92090654140. 4

Question Number : 35 Question Id : 92090613705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TS 3 HUTTH?

1. Wl SdeRIq

2. HHEH[d

3. HEHIq

4. fagemn
Options :

92090654137. 1
92090654138. 2
92090654139. 3
92090654140. 4

Question Number : 36 Question Id : 92090613706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgds Amd: gfa ug fgeb = fmpe
1. fogdem
2. Gilfceueit
3. onfafersy
4. HEIERSD
Options :

92090654141. 1
92090654142. 2
92090654143. 3
92090654144. 4

Question Number : 36 Question Id : 92090613706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fad =raTd: 3fa ud) fgdb = ey

1. fogdem

2. oilfdedeit

3. wnfafersy

4. UEIHRSD
Options :

92090654141. 1
92090654142. 2
92090654143. 3
92090654144. 4

Question Number : 36 Question Id : 92090613706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadh A 3fa ug fgb m fom2
1. fagem
2. Gilfceueit
3. onfafery
4, HEHRS
Options :

92090654141. 1
92090654142. 2
92090654143. 3
92090654144. 4

Question Number : 37 Question Id : 92090613707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. waldH g

2. gsuus™

3. WieaudarEA

4, HAAHRE g
Options :

92090654145. 1
92090654146. 2
92090654147. 3
92090654148. 4

Question Number : 37 Question Id : 92090613707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. waldi= wdama

2. gSIqusH

3. WicaudaHREA

4.  FAAGRgAE €
Options :

92090654145. 1
92090654146. 2
92090654147. 3
92090654148. 4

Question Number : 37 Question Id : 92090613707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. waldH g

2. gsuus™

3. WieaudarEA

4, HAAHRE g
Options :

92090654145. 1
92090654146. 2
92090654147. 3
92090654148. 4

Question Number : 38 Question Id : 92090613708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B T 3 B R
1. 3IGHIHI
2. ggagiada IR
3. U v
4. 3

Options :

92090654149. 1
92090654150. 2
92090654151. 3
92090654152. 4

Question Number : 38 Question Id : 92090613708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%
%

Options :

92090654149. 1
92090654150. 2
92090654151. 3
92090654152. 4

Question Number : 38 Question Id : 92090613708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Tl 3 B WA
1. 3™ A
2. wgugludd WM
3. U v
4. 3fq

Options :

92090654149. 1
92090654150. 2
92090654151. 3
92090654152. 4

Question Number : 39 Question Id : 92090613709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 wdamREe 3fa 9 R e g

1. Aqu:

2. UYAT:

3. o

4. Sfaufds:
Options :

92090654153. 1
92090654154. 2
92090654155. 3
92090654156. 4

Question Number : 39 Question Id : 92090613709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR g 30 93 R e Fde
1. Igd:
2. VYA
3. W
4. SffauiET®:
Options :

92090654153. 1
92090654154. 2
92090654155. 3
92090654156. 4

Question Number : 39 Question Id : 92090613709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 wdamREe 3fa 9 R e g

1. Aqu:

2. UYAT:

3. o

4. Sfaufds:
Options :

92090654153. 1
92090654154. 2
92090654155. 3
92090654156. 4

Question Number : 40 Question Id : 92090613710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: HYAEIH S
HYTH— . RN eI U
FYTH —II o AU N ug IS A5 |

SRFIHYAGTR SHaIh St Uedidd ey Jgaagas -

1 ﬂim—lm—llﬂﬁrﬂ"jmg|
2.  PYTH | pYAH I J IHUAHTY |
3. PYUAH | HIY, O] pYAH —II 3{H1Y
4. HYAH | Y, T~ DYTH 11 H1Y
Options :
92090654157. 1
92090654158. 2

92090654159. 3
92090654160. 4

Question Number : 40 Question Id : 92090613710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

3{e: HUTEaH M
HYTH—| . U YIS U
HYTH —I| . ST AN RS T

SYFSUTEI a1 3fY: Uadiddedy raqas RIqd-

1. ®YTH —| HYTH I I I 1Y |
2. FHYTH — HYTH —II I SHIHETY |
3. ®YTH —| WY, R HYTH —I Y
4. HYTH —| T W HYTH —I| T1Y

Options :

92090654157. 1
92090654158. 2
92090654159. 3
92090654160. 4

Question Number : 40 Question Id : 92090613710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{e: HUTEaH M
HYTH—| . U YIS U
HYTH —I| . ST AN RS T

TRFHYUTETR STeNP 3Y: USafas ey Fafaa -
1. ®YTH —| HYTH I I I 1Y |
2. FHYTH — HYTH —II I SHIHETY |
3. BYTH —| TIY, IR HYTH 1 3Y
4. HYTH —| T W HYTH —I| T1Y

Options :

92090654157. 1
92090654158. 2
92090654159. 3



92090654160. 4

Question Number : 41 Question Id : 92090613711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y TER I STT HY -2

1. gdd

2. USRY

3 HPRY

4 HPHY
Options :

92090654161. 1
92090654162. 2
92090654163. 3
92090654164. 4

Question Number : 41 Question Id : 92090613711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y SRR IW: ST B -2

1. g3ad
2. UBR™
3. PRA
4. HERE
Options :

92090654161. 1
92090654162. 2
92090654163. 3
92090654164. 4

Question Number : 41 Question Id : 92090613711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y SRR IW: ST B -2

1. g3ad
2. UBR™
3. PRA
4. PR
Options :

92090654161. 1
92090654162. 2
92090654163. 3
92090654164. 4

Question Number : 42 Question Id : 92090613712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Th: Sid USS=d Ud ST Uil Iufad?

1. Sl Udgl

2. SMRIl efddl

3. WASTRAH:

4. HFNRIHIY
Options :

92090654165. 1
92090654166. 2
92090654167. 3
92090654168. 4

Question Number : 42 Question Id : 92090613712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3oh: 3id WSSUw US a1 ufeHman Iufayd?

1. gl UdEl

2. 3TN el

3. WASTRAH:

4. PRI
Options :

92090654165. 1
92090654166. 2
92090654167. 3
92090654168. 4

Question Number : 42 Question Id : 92090613712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- Sid UsSd=d Ud ST ufyumemr Jufad?

1. 3D

2. SMEIil efaal

3. WHASTRAH:

4. SR
Options :

92090654165. 1
92090654166. 2
92090654167. 3
92090654168. 4

Question Number : 43 Question Id : 92090613713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Papady

2. Ayl

3. Hawdly

4,  HFAUHlE
Options :

92090654169. 1
92090654170. 2
92090654171. 3
92090654172. 4

Question Number : 43 Question Id : 92090613713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fob a8 Rz
1. PRI
2. SipayNly
3. pavdhy
4. FPauEly
Options :

92090654169. 1
92090654170. 2
92090654171. 3
92090654172. 4

Question Number : 43 Question Id : 92090613713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Papady

2. Ayl

3. Hawdly

4,  HFAUHlE
Options :

92090654169. 1
92090654170. 2
92090654171. 3
92090654172. 4

Question Number : 44 Question Id : 92090613714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e - fhw?
1. IeyrAfdHE
2. QU3
3. ORRHERH
4. Yy
Options :

92090654173. 1
92090654174. 2
92090654175. 3
92090654176. 4

Question Number : 44 Question Id : 92090613714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. IerAfdsH

2. QUIIeI™

3. JeuvedH

4.  Juriy
Options :

92090654173. 1
92090654174. 2
92090654175. 3
92090654176. 4

Question Number : 44 Question Id : 92090613714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qYTERi A a2
1. IeyrAfds=
2. QU 3T
3. ORRNERH
4.  Jury
Options :

92090654173. 1
92090654174. 2
92090654175. 3
92090654176. 4

Question Number : 45 Question Id : 92090613715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



URHEGRREE egdl &:7

1. ARG

2. pHIRAME:

3. ®IUSYe:

4. ygifordifara:
Options :

92090654177. 1
92090654178. 2
92090654179. 3
92090654180. 4

Question Number : 45 Question Id : 92090613715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URHEERRET el &2
1. ATTIYE:
2. PHINAME:
3. DIUSHE:
4. ygierdiféa:
Options :

92090654177. 1
92090654178. 2
92090654179. 3
92090654180. 4

Question Number : 45 Question Id : 92090613715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



URHEGRREE egdl &:7

1. ARG

2. pHIRAME:

3. ®IUSYe:

4. ygifordifara:
Options :

92090654177. 1
92090654178. 2
92090654179. 3
92090654180. 4

Question Number : 46 Question Id : 92090613716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 3T Srefaegdh G sifei—
1. g
2. UG
3. i
4. gUu=
Options :

92090654181. 1
92090654182. 2
92090654183. 3
92090654184. 4

Question Number : 46 Question Id : 92090613716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT §43 AT G Sifkd—

1. U

2. Ugldd

3. W

4. gudw
Options :

92090654181. 1
92090654182. 2
92090654183. 3
92090654184. 4

Question Number : 46 Question Id : 92090613716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 3T Srefaegdh G sifei—
1. g
2. UG
3. i
4. gUu=
Options :

92090654181. 1
92090654182. 2
92090654183. 3
92090654184. 4

Question Number : 47 Question Id : 92090613717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. UBiaHaEl

2. gyHIfqyed

3. fedrafaven

4, gyt
Options :

92090654185. 1
92090654186. 2
92090654187. 3
92090654188. 4

Question Number : 47 Question Id : 92090613717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEUT0MH THLIH Hafd—
1. USfdHTl
2. gyHIfqyed
3. fedtafaven
4. garmayet
Options :

92090654185. 1
92090654186. 2
92090654187. 3
92090654188. 4

Question Number : 47 Question Id : 92090613717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. UBiaHaEl

2. gyHIfqyed

3. fedrafaven

4, gyt
Options :

92090654185. 1
92090654186. 2
92090654187. 3
92090654188. 4

Question Number : 48 Question Id : 92090613718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U1 Hg fOar SirTa: are s R uaH dad—

1 g

2. We

3. foan

4, Sd:
Options :

92090654189. 1
92090654190. 2
92090654191. 3
92090654192. 4

Question Number : 48 Question Id : 92090613718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U1 Fg fUar SrTa: are s R uaH dad—

1L g

2. He

3. foan

4, Sd:
Options :

92090654189. 1
92090654190. 2
92090654191. 3
92090654192. 4

Question Number : 48 Question Id : 92090613718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U1 Hg fOar STa: are s R uaE add—

1L g

2. ¥e

3. foan

4. 3HId:
Options :

92090654189. 1
92090654190. 2
92090654191. 3
92090654192. 4

Question Number : 49 Question Id : 92090613719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S{EATOR: ST~ g et Hafd—

1. e

2. ShIRIH 3feifd

3.  @RiPlead

4,  WHEISYHL
Options :

92090654193. 1
92090654194. 2
92090654195. 3
92090654196. 4

Question Number : 49 Question Id : 92090613719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S{EUIT: Sfed=ean] fedtar vafa—

1. @R

2. I9H e

3. HRPled

4, HEITSYH:
Options :

92090654193. 1
92090654194. 2
92090654195. 3
92090654196. 4

Question Number : 49 Question Id : 92090613719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S{EATOR: ST~ g et Hafd—

1. i

2. ShIRIH 3feifd

3, oRipfewad

4,  WHEISYHL
Options :

92090654193. 1
92090654194. 2
92090654195. 3
92090654196. 4

Question Number : 50 Question Id : 92090613720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIRY 379 STy, S ARY ST Ueed HHFsal 7 Hafd—
1. &g SdaHarHTEg
2. SfyddH@IHETg
3. @URY §daHaHEnd
4.,  FHU: SHITHCEIHEN

Options :

92090654197. 1
92090654198. 2
92090654199. 3
92090654200. 4

Question Number : 50 Question Id : 92090613720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HNY 3% FyTfer, IO ANY I U HHGsql 7 Hafd—
1. g SfdaHErHT
2. STAdaHCETHTET]
3. U SIRIddHEMIEN]
4.  FHHU: SHdTHETHEN]

Options :

92090654197. 1
92090654198. 2
92090654199. 3
92090654200. 4

Question Number : 50 Question Id : 92090613720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 3% Sefer, I AEY S USR HHESTI T Hafd—
1. &g SHddHQEMET]
2. SEHddH@IHIEI]
3. DU STRIdHEHTET
4. HHU: SETIHEIHTEN

Options :

92090654197. 1
92090654198. 2
92090654199. 3
92090654200. 4

Question Number : 51 Question Id : 92090613721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. gfe

2. W

3. ‘{Lff‘(“_u:

4 0:
Options :

92090654201. 1
92090654202. 2
92090654203. 3
92090654204. 4

Question Number : 51 Question Id : 92090613721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui, 3o Wi: farra—
1. gfe
2. WREU:
3. e
4, O
Options :

92090654201. 1
92090654202. 2
92090654203. 3
92090654204. 4

Question Number : 51 Question Id : 92090613721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. gfs:

2. W

3. qghxu:

4 0:
Options :

92090654201. 1
92090654202. 2
92090654203. 3
92090654204. 4

Question Number : 52 Question Id : 92090613722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TGP’ o UM IR’ IR faeiad—

1. U eUR:

2. aifd

3. AR

4. GO
Options :

92090654205. 1
92090654206. 2
92090654207. 3
92090654208. 4

Question Number : 52 Question Id : 92090613722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ao I UMY AU’ YR faeiga—

1. U elUR:

2. afd

3. AR

4, GO
Options :

92090654205. 1
92090654206. 2
92090654207. 3
92090654208. 4

Question Number : 52 Question Id : 92090613722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP R: S0 UM AU A0 faeiaa—

1. 3N ofUR:

2. dfd

3. AR

4, GG
Options :

92090654205. 1
92090654206. 2
92090654207. 3
92090654208. 4

Question Number : 53 Question Id : 92090613723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEE SR 30 '3 ST U Wil faera—

1. A

2. fyRa

3. &

4. UM
Options :

92090654209. 1
92090654210. 2
92090654211. 3
92090654212. 4

Question Number : 53 Question Id : 92090613723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEE SR 30 '3 ST U Wil faera—

1. A

2. fyRa

3. &

4. UM
Options :

92090654209. 1
92090654210. 2
92090654211. 3
92090654212. 4

Question Number : 53 Question Id : 92090613723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eESUTaR: 3 '3 S Ue Wil faea—

1. A

2. fyRa

3. &

4. UM
Options :

92090654209. 1
92090654210. 2
92090654211. 3
92090654212. 4

Question Number : 54 Question Id : 92090613724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UHIAERH fobgwml &1 Hafd—
1. 3URRH $RS
2. quiRunerdfgaw gdw
3. AUiRUIHaRT® R
4. HfPReERaE "™

Options :

92090654213. 1
92090654214. 2
92090654215. 3
92090654216. 4

Question Number : 54 Question Id : 92090613724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ui fobgmmi & wafa—
1. 3UIGH ®R$
2. auiRUTeIafga gde
3. AUiRUIHaRT® R
4. fRRTERTE =Y

Options :

92090654213. 1
92090654214. 2
92090654215. 3
92090654216. 4

Question Number : 54 Question Id : 92090613724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
USRS fhawml & Hafd—
1. 3{URH $REH
2. qUi=RUTIdga qaw
3. gUiRUISEfRTE Y
4. SfHIaiRTR IR™

Options :

92090654213. 1
92090654214. 2
92090654215. 3
92090654216. 4

Question Number : 55 Question Id : 92090613725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. ®Fd =

2. TUId HIaH

3. UHIU SfdH

4, fopar am-ady
Options :

92090654217. 1
92090654218. 2
92090654219. 3
92090654220. 4

Question Number : 55 Question Id : 92090613725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAABIAUHFR ol el Hafd—
1. ®Fd =
2. UK ST
3. YHIU Sf<dq
4. fopand sm-ady
Options :

92090654217. 1
92090654218. 2
92090654219. 3
92090654220. 4

Question Number : 55 Question Id : 92090613725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. ®Fd =

2. TUrd A

3. UHIU SfdH

4, fopar am-ady
Options :

92090654217. 1
92090654218. 2
92090654219. 3
92090654220. 4

Question Number : 56 Question Id : 92090613726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

USSR G a1 Tofdee i W aftfar:?

1. HedH

2. USIAH

3. fe=raq

4 TR
Options :

92090654221. 1
92090654222. 2
92090654223. 3
92090654224. 4

Question Number : 56 Question Id : 92090613726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. HedH

2. USIdH

3. femman

4 TR
Options :

92090654221. 1
92090654222. 2
92090654223. 3
92090654224. 4

Question Number : 56 Question Id : 92090613726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIRIHRU] U S(erHT Tojdaed did 2ma: aftfdr:?

1. TedH

2. UHRAH

3. fgaray

4 oY
Options :

92090654221. 1
92090654222. 2
92090654223. 3
92090654224. 4

Question Number : 57 Question Id : 92090613727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TW: & ard agi=a?

1. HEHH
2. HYHMH
3. M
4, WH
Options :

92090654225. 1
92090654226. 2
92090654227. 3
92090654228. 4

Question Number : 57 Question Id : 92090613727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS: & aTd daf?
1. HYHH
2. WUYHMH
3. qaM
4. WH
Options :

92090654225. 1
92090654226. 2
92090654227. 3
92090654228. 4

Question Number : 57 Question Id : 92090613727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TW: & ard agi=a?

1. HEHH
2. HYHMH
3. M
4. WM
Options :

92090654225. 1
92090654226. 2
92090654227. 3
92090654228. 4

Question Number : 58 Question Id : 92090613728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR SNl YA Sid |iw?

1. Uy

2. gl

3. FOI™

4. UF
Options :

92090654229. 1
92090654230. 2
92090654231. 3
92090654232. 4

Question Number : 58 Question Id : 92090613728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Udled

2. gl

3. FOR_W

4 U
Options :

92090654229. 1
92090654230. 2
92090654231. 3
92090654232. 4

Question Number : 58 Question Id : 92090613728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WG FRINR SNf 1 TaeE &id i

1. UdRY

2. gl

3. FIEW

4. Ud
Options :

92090654229. 1
92090654230. 2
92090654231. 3
92090654232. 4

Question Number : 59 Question Id : 92090613729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 UTAMNEH

2. UH

3. dI$UH

4, WG
Options :

92090654233. 1
92090654234. 2
92090654235. 3
92090654236. 4

Question Number : 59 Question Id : 92090613729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey g —
1. HRE
2. UaH
3. SN
4, HiHiETREy
Options :

92090654233. 1
92090654234. 2
92090654235. 3
92090654236. 4

Question Number : 59 Question Id : 92090613729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 UTAMNEH

2. WA

3. dI$UH

4, WG
Options :

92090654233. 1
92090654234. 2
92090654235. 3
92090654236. 4

Question Number : 60 Question Id : 92090613730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T@IR 2101 Uesrdr wf—
1. ARy
2. ynffBTHEIETY
3. MRENEREHTEY
4. YRAfGdI-drEdIgy
Options :

92090654237. 1
92090654238. 2
92090654239. 3
92090654240. 4

Question Number : 60 Question Id : 92090613730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR YFIO g df—
1. ARSI YT

2. yHiBTHEIETY

3. MRENYIEHUEY

4. URAfFIIEdIERY
Options :

92090654237. 1
92090654238. 2
92090654239. 3
92090654240. 4

Question Number : 60 Question Id : 92090613730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T@IR 10T s Hf—
1. ARy
2. yATfETIHIENY
3. TMRERRU&HIEY
4. dRafarEdeRy
Options :

92090654237. 1
92090654238. 2
92090654239. 3
92090654240. 4

Question Number : 61 Question Id : 92090613731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. e

2. vaaq

3. U

4 B
Options :

92090654241. 1
92090654242. 2
92090654243. 3
92090654244. 4

Question Number : 61 Question Id : 92090613731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

vEwY i g
1. Tonam
2. vaaq
3. IR
4. T
Options :

92090654241. 1
92090654242. 2
92090654243. 3
92090654244. 4

Question Number : 61 Question Id : 92090613731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. e

2. vaaq

3. U

4 B
Options :

92090654241. 1
92090654242. 2
92090654243. 3
92090654244. 4

Question Number : 62 Question Id : 92090613732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

waf: Hafd—
1. UHfAy:
2. fefas:
3. Pfaw:
4. =gfdw:
Options :

92090654245. 1
92090654246. 2
92090654247. 3
92090654248. 4

Question Number : 62 Question Id : 92090613732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Jf: Hafd—

1. UHfAY:

2. fefau:

3. fafae:

4. Igfdw:
Options :

92090654245. 1
92090654246. 2
92090654247. 3
92090654248. 4

Question Number : 62 Question Id : 92090613732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

waf: Hafa—
1. UHfAY:
2. fefas:
3. Pfaw:
4. Igfdw:
Options :

92090654245. 1
92090654246. 2
92090654247. 3
92090654248. 4

Question Number : 63 Question Id : 92090613733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘S Far 91 FRAATEAIRA: TR FIRGIY WsgAHAIEdre: 3fa g

1. dUrER:

2. [

3. dian

4. AAS:
Options :

92090654249. 1
92090654250. 2
92090654251. 3
92090654252. 4

Question Number : 63 Question Id : 92090613733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘SR Faar a1 SREAFEdeH: SR SRS WsgAHAIadre: 3fd 4o

1. dU/ER:

2. foige:

3. diE

4. AUt
Options :

92090654249. 1
92090654250. 2
92090654251. 3
92090654252. 4

Question Number : 63 Question Id : 92090613733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘Frdd Il 91 FRAATEAE: I FINGIY WsgAAEdreT 3fa Fuor

1. dUrER:

2. [

3. dian

4. AAS:
Options :

92090654249. 1
92090654250. 2
92090654251. 3
92090654252. 4

Question Number : 64 Question Id : 92090613734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHICYEl 8q: ddfd—
1. Uipadf:
2. dgaaf:
3. Uiddddal &l
4.  WpIc: WOHd
Options :

92090654253. 1
92090654254. 2
92090654255. 3
92090654256. 4

Question Number : 64 Question Id : 92090613734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRl 3G Ta—

1. Uigaw:

2. dFawd:

3.  Uipdddal @l

4. TpIC: WWUHd
Options :

92090654253. 1
92090654254. 2
92090654255. 3
92090654256. 4

Question Number : 64 Question Id : 92090613734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 2 a5
1. UIipdE:
2. dgade:
3.  Wddddd! @l
4. TpIC: WYHd
Options :

92090654253. 1
92090654254. 2
92090654255. 3
92090654256. 4

Question Number : 65 Question Id : 92090613735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L et
2. Eq
3. HAN
4. dif=
Options :

92090654257. 1
92090654258. 2
92090654259. 3
92090654260. 4

Question Number : 65 Question Id : 92090613735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T fudt wafd—
L et
2. ®l
3. HAM
4. dfg
Options :

92090654257. 1
92090654258. 2
92090654259. 3
92090654260. 4

Question Number : 65 Question Id : 92090613735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L et
2. ®Q
3. WAl
4. dif=
Options :

92090654257. 1
92090654258. 2
92090654259. 3
92090654260. 4

Question Number : 66 Question Id : 92090613736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYTaH SU:YSd [derd| T ThH ATHHYTE -3 3fd 30T RIS & 3fd
Hieud fae:

Sy 3 3fd . wifaufesdforgafmaemR.  gafegd  gummiay:
[EEIE RG]

SR T i gl s wfuieeTd.. safegar faufd: fasfad)
SUYFID YT el 3fY: Pediddbedy FHIEHR frd-
1. o & 3gHU UdH, U9Y & 3fd ‘o SO WHIAT e fawrd
2. 3 & SOHE 9d, WX T 3fd o oo WA |are A
31 3fd I, &' 3fd oy
4, 3 3id g, 9 3fd gaHq

L

Options :

92090654261. 1
92090654262. 2
92090654263. 3
92090654264. 4

Question Number : 66 Question Id : 92090613736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HYTEaH YU faerd| a3 U Sy 3f 3id 3Rs SRR & 3fd
Hieud faerd:

Py of 30 . WiuRerfaguiaEsa. safeygd  nyafaye:
faur wafd|

SR T 3 g s i@ty s faufd: fafaa)
UGS UTGIE SABH 3f: Verdfapedy wHiefge Rid-

1. o ¥ 3gHD U, UAY F 3fd o 3oy WA sare fawrd

2. O & TOHY 9, I T 3 o o WA |gre A

3. o gfd9d, @ 3ia s

4. 31 3fd o/, & 3fd Iy

Options :

92090654261. 1
92090654262. 2
92090654263. 3
92090654264. 4

Question Number : 66 Question Id : 92090613736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYTUH Y-S [Gerd| 3 ThH ATHHYTEY -3 3fd 3R FRURIY §' 3fd
Hictd faer:

Sy 3 3fd . wifuierdfergafamEeaR.  safegd  guHEidqER:
fayr FAM |

PR T 3d g 3 Wiy, safer faufd: fdadl
SUFIH YT a1 Y: Yedfddmedy FHEWR fRa-
3 & TYHY TAH, [IY 9 3 ‘37 SR GHIAT oureT fderd

—

2. of @ IEME 9, W T 3fa o S |t sare i
3. o3 gid ud, & gfd e
4, 3 gfd s, & gfd gy

Options :



92090654261. 1
92090654262. 2
92090654263. 3
92090654264. 4

Question Number : 67 Question Id : 92090613737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYTEIH AU [T | T3 UHH B0 3 31T R SRR €' 3
Hicd faera:
YU 3 3 A + 3 SHIRME Ga&Y Y@l I 3fa Rrgafal
SR T 3 - 3ffF gd- GHIAA SIS\ WRa: [aE e AL |
SURIGYAGI Talb SY: Yaafdebedy GHH fagd-

1. o O 3HY O, Uy T 3fd o SO 9T sare fderd

2. T THY O, W T 3 of SO AT |re A

3. 3 gfd ud, @ 3fd s

4. 3 3fd o, & 3fd WAy

Options :

92090654265. 1
92090654266. 2
92090654267. 3
92090654268. 4

Question Number : 67 Question Id : 92090613737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DYTGIH HY:VET [ded| T UhH SITHBHYAF 37 31 3{RF HRURSU ' 3fd
et faerd:

fHYF ‘3 3fd W + 3 SHIRIM ga&y Y1 Iy 3fa Rrgafdl
SR T 3fd - 3l gd GHAUIAA SISl WRa: e gHde faeiad |
SUFaHYAGI 3Tclb 3fY: Yexiddedy THIEHH RIgd-

1. 3 E SgHT O, YAy 9 gid 3 gor wHi T s fawrd

2. T TOHE 9, R T 3 o SO AT |reT A
3 3id U, & 3id SHIH

4. 31 3fd 3, & 3fd O

Options :
92090654265. 1
92090654266. 2

92090654267. 3
92090654268. 4

ol

Question Number : 67 Question Id : 92090613737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYTGIH YU faerd | T3 U AfHEY-=00r 31 3id 3s dRUR=U & 3fd
Hiedd faerd;

YHYF I 3 H + 3 THIRME QA& Y1 I 3fd Rrgafdl
SR T 3fd - 3l gd QAU Si1Sf WRa: e uHee faeiad |
SUFaHYAGI HTclb 3fY: Yeaiddedy THIEHH fRIgd-

1. 3 @ 3gHE IO, YAY T 3 13 SO I sara faea

2. 3T SYHE 9, IR T 3fd of SO AT SreT A
3" 3fd I, &' 3fd Sy

4. 31 3fd 3d, € 3fd A

Options :
92090654265. 1
92090654266. 2

92090654267. 3
92090654268. 4

el



Question Number : 68 Question Id : 92090613738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYTEIH YUY G | 7 UHH SHBYAEU 3f 3fd iR FRURUY & 3fd
Hicdd fawra:

HFYH ‘31 3fd . g1 gUIfr|
PR T 3 . g RIM U] Wl digami favd)
SURIGYTGI SMTalh 3fY: Yaaidebedy GHH fagd-
1. 8 T 3HY OH, Uy T 3fd or SO 9T sare faerd
2. 9 T TUHE O, W T 3 of SO GHH AT Sre A
3. 3 sfdud, @ 3fd oedH
4. 3 3fd o, @ 3fd 9w

Options :

92090654269. 1
92090654270. 2
92090654271. 3
92090654272. 4

Question Number : 68 Question Id : 92090613738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FYTEUH Y [ded| 0F UhH ATHSYEI 3 3fd 3T SRV &' 3fd
Hicud faed:

Sfiypy= 31 3fd . g1 oI
SR T 3fd : B WM 3] WG digdrl faug |
SUGFIHYAGI SNTAB 3fek: Yerdfadely Fiteiger -
1. 3w SgHY O, YAy § 3fd o ey i sarer fawrd
2. o 9 IEYE O, W T A o SO eI e A
3. 3 gfd O, @ gfd SHdH
4. 3 gfd o, & 3fd aaH

Options :

92090654269. 1
92090654270. 2
92090654271. 3
92090654272. 4

Question Number : 68 Question Id : 92090613738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SYTGIH Y- [ded| 99 U fHHY=0 31 3id 3y SO0 & gfd
Hicud faerd:;

HFYH ‘3 3fd . gl TUIfr|
SR & Zid . g RIF 30 Wigf digdri fawd)
SURIBYAGI 3MTclh 3y Yaaidebedy GHHT fRd-
1. 8 9 34D O, U9y T 3fd or SO 9T sare faerd
2. 3 T TgHE 9, W T 3fd of SO AT sre A
3. 3 gfdud, @ 3fd oaH
4, 3 3fd o, &' 3fd gaH

Options :
92090654269. 1
92090654270. 2



92090654271. 3
92090654272. 4

Question Number : 69 Question Id : 92090613739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYTEUH YU [Fed | 73 UhH SifHby=ao ‘31 3fd 3R HRUREYY § 3fd
dfedd fdea:
Uy 31 3fd 1Y WsATATETH |
SR T 3f - YT Wea1sRAIeHRIY: ugwd|
SUYFRIGYAGIR Hdlb Si: Ygdidbedy GHIHHa fRIgd-
1. 30 & SHd W, Y & 3fd o SO qTEAT sare faRrd
2. 3 T SUE 9, W T 3 ‘o SO eI sure A
3. orsfaud, ¥ 3fd san
4. 3 3fd o, & 3fd A
Options :
92090654273. 1
92090654274. 2

92090654275. 3
92090654276. 4

Question Number : 69 Question Id : 92090613739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHYAGIH Sy UeT 3T | 73 UHH fHHYAEU 31 3id 3R HRUREUT ' 3fd
icud faer:
SHFYTH '3 3 ;31 NUsSTRITH|
SR q 3id U TeaiseRY: ugwEd|
SUFAHYAGIR STdlb 3fef: Ygulddbedy GHIHH f&a-
1. 3 & 3O T, Uy 9 3fd o SO WHIHT e faerd
2. 3 T SUE 9, W T 3 ‘o SO eI sure A
3. o gfaud, ¥ 3fd saH
4. 3 3fd e, & 3fd
Options :
92090654273. 1
92090654274. 2

92090654275. 3
92090654276. 4

Question Number : 69 Question Id : 92090613739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT H:Uex [3ed | 73 THH S 31 3d 3RY FRUREUY §' 3fd
i faerd:
YBT3 3 ;Y UsIHUEH |
SR T 3f . Y UGISRIGRIY: ygsad |
SUYFRIGYAGIR Hdlb Si: Ygdidbedy GHIHHa fRIgd-
1. 8 @ 3gHE TOH, Y 9 3fd o S0 gHIE AT et faerd
2. 3 T SUE 9, W T 3 ‘o SO eI sure A
3. o gfaud, ¥ 3fd saH
4, 3 3fd o, &' 3fd IdH
Options :
92090654273. 1

92090654274. 2
92090654275. 3



92090654276. 4

Question Number : 70 Question Id : 92090613740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PYTTH YT [9ed | F ThH ATHGYTE0 3 fd 30T FRURIY & 3fd
Hicdd faer:

SHUHYT o 3fa - Frauafgard Rigwss: |
BRI T 3T . Opesafaaiay WAy ddd | JeT e w0, R gid,
Rrgwmeraiafa)

SRR 3HTaldb 3HY: Yexiddb ey HEw Ra-

1. 30 @ YO UAH, Uy ‘T gid 3 30 GHIHHT sare faerd
2. 3 T TUHE 9d, W T 3fd of oo WA sre A
3. 3 gfd ud, & gfd s
4, 3 gfd e, 9 gfd gy

Options :

92090654277. 1

92090654278. 2

92090654279. 3
92090654280. 4

Question Number : 70 Question Id : 92090613740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYTEAH YU [ded | T UhH SifHBYTEIU 3 3d SIS SRURSUY ¥ 3id
Sicrd faera:

SAHUHYTH 3 3 . Fauafgard Rigwss: |
BRI T 3fd . gapeRysafaanay HIy add | aer Rigr o, e gid,
gt

|
1. 3 & SgHD T, Ay 9 3fd o g i saren farr
2. o @ IgHE O, W 3fa o e et sare A
3. o gid ud, & gfd e
4, 3 3fd o, 9 gfd 9@y

Options :

92090654277. 1
92090654278. 2
92090654279. 3
92090654280. 4

Question Number : 70 Question Id : 92090613740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYTEaH AY:Ued fderd| 7 U iS00 31 gid oRs SRR & 3fd
SHicud faed:

SAHUHYTH 3 3 . Fauafgard Rigwss: |
BRI T 3fd . gapeRysafaanay HIy add | aer Rigr o, e gid,
Rt icapiteinl

1. 3 & SgHD T, Ay 9 3fd o g i saren farr
2. o @ IgHE O, W 3fa o e et sare A

3. o gid ud, & gfd e

4, 3 3fd o, 9 gfd 9@y

Options :
92090654277. 1



92090654278. 2
92090654279. 3
92090654280. 4

Question Number : 71 Question Id : 92090613741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYTGIH AU (2| T TPH SHHGYTI o el SRF PRI T 3
ietd faerd:

Py of 30 . AN Tq fHAd vfed: ugosgad|
SR T 3 . Ugeiisg YuETfdrd|
SUdISHYTET Sfaldb 31Y: Yedidbedy GHIH-HR fRgd-
1. 3 & SgHD T, YAy 9 3fd o g g sure fawr
2. o @ IOV 9, W i o SOy [T sgre A
3. 3 3fd ud, 9 3fd eI
4. 31 3fd o, & 3fd Wy

Options :

92090654281. 1
92090654282. 2
92090654283. 3
92090654284. 4

Question Number : 71 Question Id : 92090613741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYTEAH YU [Gerd| o Ushr ifiy=wau of 3fd 3oy HRUREU « fd
Ficud faere:

YA of 30 . AN Eq P9 Ufdd: ugosad|

PRUTEA @ Ugoieae JUElE|
1. 3 ' 3gHE IH, Uy & 3id 3 SO AT sare faerd
2. 3 T SOWE 9d, WX T 3fd o S WA sare Ak
3. 3 3fd ud,  3fd sraH
4. 3 3id 3, ¥ gid TN

Options :

92090654281. 1
92090654282. 2
92090654283. 3
92090654284. 4

Question Number : 71 Question Id : 92090613741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PYTEAH Y Y [9ed| T U SfHSYAE0 3f 3fd 3R SR « 3fd
Hictd fder:

SR of 30 . GHN Tq A9 Ufed: ggorsaaq|
FRUG I e YHaTd@rd
SULFISYTGI STAB 3Htf: Yerdfabedy Fultdger Rid-
1. 3w 3UHd UH, YAy § 3fd o Sy WHIH T sure fawrd
2. o ¥ IOV 9, W 3id 3 SO AT sre A
3. 3 gfd ud, & gfd eIy
4. 3 3fd oI, & 3fd TH

Options :

92090654281. 1
92090654282. 2
92090654283. 3



92090654284. 4

Question Number : 72 Question Id : 92090613742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YUY YU [ | 7 THH HfHHYATU ‘31 3id 3R SRUREUY & fd
Hicud faed;
SR 3 3 :  FUTRBRUIYNURR- 3T a1 TEUTSH” |
SR T 3 - dadl — For: sruEaTd®: |
SIS YT cldb 3Y: Yexidbedy THTEHH fd-
1. 3 & SgHD TOH, Y € 3id 3 S0 JHIE T sare faerd
2. 3 T TgHE 9, W T 3fd of SO AT sreT A
3. 3 3fd O 9 i SIaH
4, 3 3fd g, ' 3fd gaHq

Options :

92090654285. 1
92090654286. 2
92090654287. 3
92090654288. 4

Question Number : 72 Question Id : 92090613742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DYUTGIH SHY:Ue [G2d | 73 THH STHBYARU "3 3fd IR HRUREGY §' 3fd
i fawra:
ey 31 3l :  FUTHRUNNURGR-"31Tdl T dEUiSE " |
PR T 3T . gedl — T srvmaTde: 3|
SURIHYTEI aldb 3Y: Yaaidededy YH fgd-
1. 3 & SgHD T, YAy 9 3fd o ser i sare fawrd
2. 9T TOHE 9, R T 3 o SO AT |re A
3. 3 3fd O 9 i Sy
4, 3 gfd g, & gfd gy

Options :

92090654285. 1
92090654286. 2
92090654287. 3
92090654288. 4

Question Number : 72 Question Id : 92090613742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYAGIH U [derd | 7 ThH THHYAEU 3 3id 3RS SRUREGU & 3fd
Hfeud faerd:

SR 3 3 :  FUTRBRUIYNURR- 3T a1 TEUTSH” |
SR T 5fd . gl - Fo1: srvmETd: 3|
SUFRIHYTEI Tald Y: Yaaiddedy GHEH fagd-
1. o ¥ 34D UH, U9Y ' 3fd ‘o SO I e fawrd
2. 3 T TgHE 9, W T 3fd of SO AT sreT A
3. 3 3fd O 9 i SIaH
4, 3 3fd 3ud, & gid a4y

Options :

92090654285. 1
92090654286. 2
92090654287. 3



92090654288. 4

Question Number : 73 Question Id : 92090613743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTHF UG S UeTH,

SfpYTH—  : feq smermagal Hafdl

AUFYTH— : Thq AEETd] Hafd|

QueRrdl: Sftpua: el siy:yey fasedy Ifedam I fgd
1. HHSYTH— TaH HfHHUTH—I 3fd DUTEd TOH
2. HHFYTH—| UH SfHBUTH—I 3id FYTETH TH
3. SHHDHYTH— 3id DU Fd, IR MHDYTH—I SFTH
4, HHBYTH—| 3, TWH HBYTH—II 3Td FY- I

Options :

92090654289. 1
92090654290. 2
92090654291. 3
92090654292. 4

Question Number : 73 Question Id : 92090613743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SATHHUAZIH Y UETTH,

SifHpYTH—  : feq smermagar Hafdl

AHFYTH— : Thq AwETd] Hafd|

el Sftepua: el Sry:yETy ey I 3w Rgd
1. A HSYTH— TaH HfHBUTH—I 3id DU-TEd TaH
2. HHHYTH—| TIH fHBUTH—I 3id FYTETH TH
3. SHUDHYTH— 3id DU T, IR MHHYTH—I 3FTH
4. HAHHYTH— 3Ed, TH HBUTH—I 3id HU TaHq



Options :

92090654289. 1
92090654290. 2
92090654291. 3
92090654292. 4

Question Number : 73 Question Id : 92090613743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHTHF UG S UeTH,
SfpYTH—  : feq smermagal Hafdl
AUFYTH— : Thq AEETd] Hafd|

L

IRl TS Ya1: JHed sUUgy faeey Ifadaay 3 fd
1. SHfNSEYTH—| TaH HBYTH—II 3id SUTEd UaH
2. HHFYTH—| UH SfHBUTH—I 3id FYTETH TH
3. SHHDHYTH— 3id DU Fd, IR MHDYTH—I SFTH
4, HHBYTH—| 3, TWH HBYTH—II 3Td FY- I

Options :

92090654289. 1
92090654290. 2
92090654291. 3
92090654292. 4

Question Number : 74 Question Id : 92090613744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STHHYTZIH SHY:UETH;

fipyT— - Fuffaareiagsn wit = grm s

AP - AR u§ ®[|

Sugardl: iy sfaid siy:ueay faw ey Sfadadnd 3 fRigd
1. SHINGUTH— TH SHGYTH— 3id SUgd Taq
2. AHBYTH—I UaH HHBYTH—I 3T HYTETH 3/aq
3. Sy 3fd HUH 9d, R HDYTH—I SHTH
4. SHHBYTH—| T, WH AHBYTH—I 3T HY- I

Options :

92090654293. 1
92090654294. 2
92090654295. 3
92090654296. 4

Question Number : 74 Question Id : 92090613744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTHHYTEIH SHY:UETH;

AMPYTH— - FufaaraiagsT g§ = grm s

iy —I : fFuiRaErERae u§ ®iF |

Iudrdl: sifHeuea): e Sievey ey SRaaad Iw fgd
1. SHTHSYTH—| TR YT 3id PUTed ¥
2. SHHBYTH— TaH HHFYTH—I 3fd HYgaH Ty
3. SHiHPYTH— 3fd BUH 9d, W HDYTH—I $HTH
4. SHPYTH—| T, WRH AHBYTH—I 3Td HY IIHq

Options :

92090654293. 1
92090654294. 2
92090654295. 3
92090654296. 4



Question Number : 74 Question Id : 92090613744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STHHYTZIH SHY:UETH;
sipy— - Fuffamarufa=on w¥t =m g den)
AHUPYTH— - AR ¥ ®E|
IR Sty el Siy:yemy ey IRaaaH I Rgd
1. A HBYTH—| TaH AHHBUTH—II 3 PU-Tgd TaH
2. AHBYTH—I UaH HHBYTH—I 3T HYTgTH 3/aH
3. SHiHHYTH— 3fd HUH Id, WA HHYTH—I 3TTH
4. A HBYTH—| YT, RH M HBYTH—I 3fd DY+ TaHq

Options :

92090654293. 1
92090654294. 2
92090654295. 3
92090654296. 4

Question Number : 75 Question Id : 92090613745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHTHPYTEUH HYVTH;
AUDYTH—  : UYHIGY: [T Fsqil: Wfor==r fafgar: |
MUBYTH—I ;ST TRI=3 U= |
Ul i@yl S siy:vey ey Sfdand 3w fRgd
1. SHSYTH—| TgH AHHYTA—I 3(d SUgd TIH
2. ANFHYTH—| T AHTHHYTI—II 3 HUTgIH 3T
3. SHIHDHYTH— 3id SUH Hd, IR HDYTH—I| STH
4. SAHPYTH— 3, TH HHRYTH—I 3fd FY= 999

Options :



92090654297. 1
92090654298. 2
92090654299. 3
92090654300. 4

Question Number : 75 Question Id : 92090613745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHTUPYTEIH S UTTH;
fHPYTH—1  : UYAIGY: =T Wil Uriorf=r fafgdn: |
SfpyTA—I :  Sifefa TS U=
IUaa: Sty ed U:uey ey Ifdand I fad
1. AHHBYTH—| TaH AHBUTH—I 3fd HY-gd TaH
2. HHBYTH—I T AHPYTH—I 3d FU-TgaH ST
3. HHFYTH— 30 DY T, WA AHBYTH—I S HTH
4. HHBYAH— 3T, WA HHYTH—I 3fd Y= T

Options :

92090654297. 1
92090654298. 2
92090654299. 3
92090654300. 4

Question Number : 75 Question Id : 92090613745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHTHPYTETH HYVTH:

AUDYTH—  : UYAGY: W= Faqil: for==r fafgar: |

AMYFYTH—I ;ST =71 U]

eI SifHeyal: 3Teld 3ry:uexy faeedy Ifadnd I fRgd
1. SHEYTH—| TaH HFYTH—II 3 SYTgd TaH
2. HHFYTH—I TaH fHFUTH—II 3 FUTETH 3 HTH
3. SHHBHYTH— 3id SUH Hd, R HDYTH—I| SHTH
4. SAHFYTH— 3, TWH HHBYTH—I 3fd FY- 999

Options :

92090654297. 1
92090654298. 2
92090654299. 3
92090654300. 4

Question Number : 76 Question Id : 92090613746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P YTEIH S:UTH;

fSYTH— Sl uel e gl a1 sigearyf|

AUFYTH—I - G- fogarearyifiyE ed: T 91Y: |

Il iYL 3elid Si-uey fAbeqy IfRdam 3 R4
1. HHSUTH—I TaH SNPHUTH—I 3id PuTed T
2. SHINBYTH—| TN ATHHYTHI 3 HUTETH T
3. HHFYTH— 3 HY T, Y HFYTH—II 3TTH
4, HHBYTH— 3Ed, WA MR YTH— 3fd Sy I

Options :

92090654301. 1
92090654302. 2
92090654303. 3
92090654304. 4



Question Number : 76 Question Id : 92090613746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHSHYTEIH SHY:YTH;

AUPYTH—1  : SIEld yeI ward gwi |1 sfecani|

ANHYAH—I ;. FHY-faugareriiie wdd: I Feg: |

Iugerdl: HHHYTL: JTeld AY:Ugy faeay Ifdany 3w [RAd
1. HHBYTH—| TaH B YAH—I id HUgd TaH
2. YT UaH S YTH—I 30 HUTEaH ROy
3. HHHYTH— 3d DY T, WY HFYTH—II 3TH
4, HHBYTH— 3Hd, WA MUHYTH—| 3d HYH I

Options :

92090654301. 1
92090654302. 2
92090654303. 3
92090654304. 4

Question Number : 76 Question Id : 92090613746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHIHPYTETH S{e:VETH;

ffpyTH— ¢ Sl e T gt | S|

APYTH—I . - faugarEryifieE o U e |

SUYr: SifHdua: S Si:weay s ey IRaarq 3™ fgd
1. HHBYTH—| TaH MHFYTHI 3d YT TdH
2. HEYTH—I UaH G YTH—I S HUTEEH A
3. SHHBHYTH— 3id HUH T, R HDYTH—II 3TTH
4, HHDYTH— 3, WWH HHRYTH—II 3id FY-F 0]

Options :
92090654301. 1



92090654302. 2
92090654303. 3
92090654304. 4

Question Number : 77 Question Id : 92090613747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTHBYTEIH H:UeTH;

fPYTH—  :  3feflF: WP RYdH| AUR: |

iftypyAn— : fafy: IRum, ey yaxm|

Sudadl: BT STl AUy [dhedy Ifidand 3w o
1. AHFYTH— TaH HfHHUTH—I 3fd HU-Tgd TaH
2. APy Uay TS YTH—II 3fd FUTTH T
3. HHFYTH— 30 HY T, W AHFYTH—I HTH
4, SHHBYTH—| 3, TWH HHBYTH—II 3id FY Iaq

Options :

92090654305. 1
92090654306. 2
92090654307. 3
92090654308. 4

Question Number : 77 Question Id : 92090613747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STYHYTEIH JHY:USTH;

AMFYTH— - HeiF: TP RYdD! TAR: |

fFEYTH— ; fafe: IRom, Yo Fers yay|

U SifHmYaL: e sie:vey Ay Ifdan I fagd
1. HHPYTH—| UaH MHFYTH—I 3fd FUTd TaH
2. HHFYTH—| U SfHBYTH—I 30 FYTETH TH
3. SHHDHYTH— 3id DU Hd, IR HDYTH—I STTH
4. HHPYTH—| 3, TWH HBYTH—II 3id FY- I

Options :

92090654305. 1
92090654306. 2
92090654307. 3
92090654308. 4

Question Number : 77 Question Id : 92090613747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STHFYAGIH :USTH;
SfipyAH—1  : Sftflp: P RYdH| AUR: |
HUFHYTH— - 3T TRum, YaRHers uae |
QU SHHHYTL: SHEP Si:UeTy fadbedy Ifdans I fgd
1. AHHSYTH— TaH B UTH—I 3fd DUEd TaH
2. SHHDHYTH—| TaH HBYTH—I 3fd HYUTgaH STH
3. HHFYTH— 30 HYF T, R MHFYTH—I HTH
4. AHHBYTH— SET, W MUBYTH—I 3fd Sy IaHq

Options :

92090654305. 1
92090654306. 2
92090654307. 3
92090654308. 4



Question Number : 78 Question Id : 92090613748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STHSHYTEIH He:TETH;
FHYAH— ;- gRagHamEn quiameues: |
HHSYTH—I : AURAYdD T: YsFIgSHd ST goad |
Sudaadl: AfHEYL: Teld AUy [y Ifraany I &
1. HHBYTH—| TaH B YAH—I id HUgd TaH
2. YT UaH S YTH—I 30 HUTEaH ROy
3. HHHYTH— 3d DY T, WY HFYTH—II 3TH
4, HHBYTH— 3Hd, WA MUHYTH—| 3d HYH I

Options :

92090654309. 1
92090654310. 2
92090654311. 3
92090654312. 4

Question Number : 78 Question Id : 92090613748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P YUTETH 3H:UETH;
AHUFYTH—  : ghrawarnf quiETIeRn: |
IHBYTH : URAYHS T YedIGSHd WSWE Foad |
QueRrdl: SfHpyAaL: 3Telid dry:yeay fasey Ifdasd 3w Rgd
1. HHBYTH—| TaH MHFYTA—I 3d FYTgd TaH
2. SHIYHYTH—| TaH AHYTHI 3 HUTEIH S HTH
3. DY gid HUH Td, R HDYTH—I 3TTH
4. SHHBYTH— 3T, WH HHBYTH—II 3Td FY- T9q

Options :
92090654309. 1



92090654310. 2
92090654311. 3
92090654312. 4

Question Number : 78 Question Id : 92090613748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHIHPYTEIH 3:UETH;
AHUSYTH—  : ghraHarEnl quiEIen: |
AHSHYAH | YRAYdD T: YZFIYSHd TSl gourd |
U SHf i Seid Sie:weay ey Ifaany 3w fa -
1. HHBYTH—| TaH MHFYTHI 3d YT TdH
2. SifirmyT— Ua sfiduad—I 3 HuEgay STy
3. SHHBHYTH— 3id HUH T, R HDYTH—II 3TTH
4, HHDYTH— 3, WWH HHRYTH—II 3id FY-F 0]

Options :

92090654309. 1
92090654310. 2
92090654311. 3
92090654312. 4

Question Number : 79 Question Id : 92090613749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIHPHYTETH U UTH,
SMNHYTH— U EUANLA a1 HeTfFm: | TEur srHedl Inagpadc: |
SHBYTH—II TS U HeT: |
U St ST Siyyeay fadedy IfRdand I fga -
1. SMUFYTH—| UaH ST 3 ST 9y
2. SHHDHYTH—| g HTHSYTH—I 3fd FUTgaH HTH
3. HHFYTH— 3] DY T, WA AHFYTH—I 3TH
4, AHHSYTH— 3 HT, WH HHHYTH—I 3fd HY= I

Options :

92090654313. 1
92090654314. 2
92090654315. 3
92090654316. 4

Question Number : 79 Question Id : 92090613749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SBT3 UETH,
SHBYTH—  :  SHEUTANLA a1 HehFm: | TRuT srHed) Inadadc: |
STHBYTH—II TS U HeT: |

Ul i@y Sad Siy:TEy fadedy Ifaany I R -
1. SHHSYTH—I TaH S UTH— 3 PuTgd §aH
2. HHFYTH— U HHEYTH—I 30 FYTETH TH
3. HHFYTH— 3id HYF T, W AHFYTH—I 3TH
4. AHHBYTH— 3HT, W MHBYTH—I 3fd Sy I

Options :

92090654313. 1
92090654314. 2
92090654315. 3
92090654316. 4



Question Number : 79 Question Id : 92090613749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHPHYTETH U UTH,
HPYTH—  ;  SHEURTNEA a1 HeFgw: | T=rYT SrHed) Aragddc: |
AMUGYTH—I T UFET Hed:|
SUGFRR: SHGUT: SHTeE ity fadedy faan 3w fa -
1. HHBYTH—| UaH HFYTH—I 3d FYTed TIH
2. SHHDHYTH— U HTHHYTH—I 3 FUTgaH HTH
3. HHFYTH— 30 HYH T, W MHFYTH—I 3HTH
4, SHHBYTH—| 3, WWH HBYTH—II 3id FY IH

Options :

92090654313. 1
92090654314. 2
92090654315. 3
92090654316. 4

Question Number : 80 Question Id : 92090613750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A WUR

B. WUl

C &

D. wlg

e g
STy Py ST I Rre—

1. SdaHA,E

2. $daqA B, C

3. SdaHB,C

4. $HdaHB,D
Options :

92090654317. 1
92090654318. 2
92090654319. 3
92090654320. 4

Question Number : 80 Question Id : 92090613750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A WUR

B. WUl

C &

D. wlg

e g
STy Py ST I Rre—

1. SdaHA,E

2. $daqA B, C

3. SdaHB,C

4. $HdaHB,D
Options :

92090654317. 1
92090654318. 2
92090654319. 3
92090654320. 4

Question Number : 80 Question Id : 92090613750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A WUR

B. WUl

C &

D. wlg

e g
STy Py ST I Rre—

1. SdaHA,E

2. $daqA B, C

3. SdaHB,C

4. $HdaHB,D
Options :

92090654317. 1
92090654318. 2
92090654319. 3
92090654320. 4

Question Number : 81 Question Id : 92090613751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A XA

B. IWHH

C Mg

D. U

e Iy

3ferprey faeedy Iferdany 3w fegd—

1. FHdaHA

2. HaaHA, C

3. ®ddqB,CD,E

4. $HdAHB, D, E
Options :

92090654321. 1
92090654322. 2
92090654323. 3
92090654324. 4

Question Number : 81 Question Id : 92090613751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A XA

B. IWHH

C Mg

D. U

e Iy

3ferprey faeedy Iferdany 3w fegd—

1. FHdaHA

2. HaaHA, C

3. ®ddqB,CD,E

4. $HdAHB, D, E
Options :

92090654321. 1
92090654322. 2
92090654323. 3
92090654324. 4

Question Number : 81 Question Id : 92090613751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A XA

B. IWHH

C Mg

D. U

e Iy

3ferprey faeedy Iferdany 3w fegd—

1. FHdaHA

2. HaaHA, C

3. ®ddqB,CD,E

4. $HdAHB, D, E
Options :

92090654321. 1
92090654322. 2
92090654323. 3
92090654324. 4

Question Number : 82 Question Id : 92090613752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faar 3w gnt Hafd—

A TYHI

B. Tedmn

C. gt

D. Ul

E. HuH

SfeE ST Ry SRR I I —

1. HdaHA, B

2. HdaHA, B C

3. &daqB,C D

4 A BCDE

Options :

92090654325. 1
92090654326. 2
92090654327. 3
92090654328. 4

Question Number : 82 Question Id : 92090613752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faar 3w gnt Hafd—

A TYHI

B. Tedmn

C. gt

D. Ul

E. HuH

SfeE ST Ry SRR I I —

1. HdaHA, B

2. HdaHA, B C

3. &daqB,C D

4 A BCDE

Options :

92090654325. 1
92090654326. 2
92090654327. 3
92090654328. 4

Question Number : 82 Question Id : 92090613752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faar 3w gnt Hafd—

A TYHI

B. Tedmn

C. gt

D. Ul

E. HuH

SfeE ST Ry SRR I I —

1. HdaHA, B

2. HdaHA, B C

3. &daqB,C D

4 A BCDE

Options :

92090654325. 1
92090654326. 2
92090654327. 3
92090654328. 4

Question Number : 83 Question Id : 92090613753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1eY: W dich STe: Ue faRra-

A il
B. Pumsy
C. U
D. Y
E. STEIon:
S{TIEY faepedy eI I fegd—
1. HdAHA, B
2. HdaqA B, C
3. SddHA B, C D

4 ABCDE

Options :

92090654329. 1
92090654330. 2
92090654331. 3
92090654332. 4

Question Number : 83 Question Id : 92090613753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1eY: W dich STe: Ue faRra-

A il
B. Pumsy
C. U
D. Y
E. STEIon:
S{TIEY faepedy eI I fegd—
1. HdAHA, B
2. HdaqA B, C
3. SddHA B, C D

4 ABCDE

Options :

92090654329. 1
92090654330. 2
92090654331. 3
92090654332. 4

Question Number : 83 Question Id : 92090613753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1eY: W dich STe: Ue faRra-

A il
B. Pumsy
C. U
D. Y
E. STEIon:
S{TIEY faepedy eI I fegd—
1. HdAHA, B
2. HdaqA B, C
3. SddHA B, C D

4 ABCDE

Options :

92090654329. 1
92090654330. 2
92090654331. 3
92090654332. 4

Question Number : 84 Question Id : 92090613754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FurariFoR ge=A |t
A FUrEEi ddsad sHTuATERETG g uiadad ShHeaH|
B. TMiIHISYAY guid 3fd fFam:)
C. g SeuR=yadd eldehaH, Jul SHYaE ]|
D. UDGY HHg dl ARV Y=IEy: |
E. Uldedy WHAHgdueHETdgiusad |

Sieuedy fadbely Ifraany I fd—
1. HAAHA, B, C
2. HdaHA CE
3. &$daHB,C D

4. A BCDE

Options :

92090654333. 1
92090654334. 2
92090654335. 3
92090654336. 4

Question Number : 84 Question Id : 92090613754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FurariFoR ge=A |t
A FUrEEi ddsad sHTuATERETG g uiadad ShHeaH|
B. TMiIHISYAY guid 3fd fFam:)
C. g SeuR=yadd eldehaH, Jul SHYaE ]|
D. UDGY HHg dl ARV Y=IEy: |
E. Uldedy WHAHgdueHETdgiusad |

Sieuedy fadbely Ifraany I fd—
1. HAAHA, B, C
2. HdaHA CE
3. &$daHB,C D

4. A BCDE

Options :

92090654333. 1
92090654334. 2
92090654335. 3
92090654336. 4

Question Number : 84 Question Id : 92090613754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FurariFoR ge=A |t
A FUrEEi ddsad sHTuATERETG g uiadad ShHeaH|
B. TMiIHISYAY guid 3fd fFam:)
C. g SeuR=yadd eldehaH, Jul SHYaE ]|
D. UDGY HHg dl ARV Y=IEy: |
E. Uldedy WHAHgdueHETdgiusad |

Sieuedy fadbely Ifraany I fd—
1. HAAHA, B, C
2. HdaHA CE
3. &$daHB,C D

4. A BCDE

Options :

92090654333. 1
92090654334. 2
92090654335. 3
92090654336. 4

Question Number : 85 Question Id : 92090613755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T e wgadr a1 df=d

A HETYRRUGTHEERIYAT JaTyRET UstsieRedl W< fogsoul
U1 a1 |

B. U HHM®!: Bd Uiyl ATUR: Feaand: |
C. AN U~THRTSAl o argA e BRIy U=g=i ar[=d |
D. 1 @ HHIr 3 GI SjbHUS HIauYH |
E. SFiboddiHedgar Siifd: ¥hie gid S|

reyeTy fashey IfErddny I fegd—
1. DdaHA CE
2. @ddHA B
3. &ddqA, B C
4. $daHB,C,D
Options :

92090654337. 1
92090654338. 2
92090654339. 3
92090654340. 4

Question Number : 85 Question Id : 92090613755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T e wgadr a1 df=d

A HETYRRUGTHEERIYAT JaTyRET UstsieRedl W< fogsoul
U1 a1 |

B. U HHM®!: Bd Uiyl ATUR: Feaand: |
C. AN U~THRTSAl o argA e BRIy U=g=i ar[=d |
D. 1 @ HHIr 3 GI SjbHUS HIauYH |
E. SFiboddiHedgar Siifd: ¥hie gid S|

reyeTy fashey IfErddny I fegd—
1. DdaHA CE
2. @ddHA B
3. &ddqA, B C
4. $daHB,C,D
Options :

92090654337. 1
92090654338. 2
92090654339. 3
92090654340. 4

Question Number : 85 Question Id : 92090613755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T e wgadr a1 df=d

A HETYRRUGTHEERIYAT JaTyRET UstsieRedl W< fogsoul
U1 a1 |

B. U HHM®!: Bd Uiyl ATUR: Feaand: |
C. AN U~THRTSAl o argA e BRIy U=g=i ar[=d |
D. 1 @ HHIr 3 GI SjbHUS HIauYH |
E. SFiboddiHedgar Siifd: ¥hie gid S|

reyeTy fashey IfErddny I fegd—
1. DdaHA CE
2. @ddHA B
3. &ddqA, B C
4. $daHB,C,D
Options :

92090654337. 1
92090654338. 2
92090654339. 3
92090654340. 4

Question Number : 86 Question Id : 92090613756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSI 31
A oIfchd=d Yeal ST STHRUH |
B. Tl daSHNI faqd:|
C. SIHRUl Ml Tl dGIRUE: |
D.  urforf= Uiakd arforas |
E. OIfOrf=T QreaT: Uied: |
S1:pEy faepedy SfedanH I forga—

1. HdaH A

2. $Hdaq A, B

3. SddaqA C D

4, $HdaHA,B,C D
Options :

92090654341. 1
92090654342. 2
92090654343. 3
92090654344. 4

Question Number : 86 Question Id : 92090613756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSI 31
A oIfchd=d Yeal ST STHRUH |
B. Tl daSHNI faqd:|
C. SIHRUl Ml Tl dGIRUE: |
D.  urforf= Uiakd arforas |
E. OIfOrf=T QreaT: Uied: |
S1:pEy faepedy SfedanH I forga—

1. HdaH A

2. $Hdaq A, B

3. SddaqA C D

4, $HdaHA,B,C D
Options :

92090654341. 1
92090654342. 2
92090654343. 3
92090654344. 4

Question Number : 86 Question Id : 92090613756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSI 31
A oIfchd=d Yeal ST STHRUH |
B. Tl daSHNI faqd:|
C. SIHRUl Ml Tl dGIRUE: |
D.  urforf= Uiakd arforas |
E. OIfOrf=T QreaT: Uied: |
S1:pEy faepedy SfedanH I forga—

1. HdaH A

2. $Hdaq A, B

3. SddaqA C D

4, $HdaHA,B,C D
Options :

92090654341. 1
92090654342. 2
92090654343. 3
92090654344. 4

Question Number : 87 Question Id : 92090613757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, dHl
B. dIp
c. aEm
D. g
E. dHH
Sfeery ey Sfe I e

. BEALD
2. B.EDAC
3. BLCDAE
4 BDAEC

Options :

92090654345. 1
92090654346. 2
92090654347. 3
92090654348. 4

Question Number : 87 Question Id : 92090613757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, dHl
B. dIp
c. aEm
D. g
E. dHH
Sfeery ey Sfe I e

. BEALD
2. B.EDAC
3. BLCDAE
4 BDAEC

Options :

92090654345. 1
92090654346. 2
92090654347. 3
92090654348. 4

Question Number : 87 Question Id : 92090613757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, dHl
B. dIp
c. aEm
D. g
E. dHH
Sfeery ey Sfe I e

. BEALD
2. B.EDAC
3. BLCDAE
4 BDAEC

Options :

92090654345. 1
92090654346. 2
92090654347. 3
92090654348. 4

Question Number : 88 Question Id : 92090613758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- e e Uishari TRId: B fded—

A ST EEAE: e
B. o9: X
C. S wfda
D. HdaH: ¥
ey fqhedy Iferdan S fegd—

1. BDCA
2. ABCD
3. CHAD
4. D,ACB

Options :

92090654349. 1
92090654350. 2
92090654351. 3
92090654352. 4

Question Number : 88 Question Id : 92090613758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- e e Uishari TRId: B fded—

A ST EEAE: e
B. o9: X
C. S wfda
D. HdaH: ¥
ey fqhedy Iferdan S fegd—

1. BDCA
2. ABCD
3. CHAD
4. D,ACB

Options :

92090654349. 1
92090654350. 2
92090654351. 3
92090654352. 4

Question Number : 88 Question Id : 92090613758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- e e Uishari TRId: B fded—

A ST EEAE: e
B. o9: X
C. S wfda
D. HdaH: ¥
ey fqhedy Iferdan S fegd—

1. BDCA
2. ABCD
3. CHAD
4. D,ACB

Options :

92090654349. 1
92090654350. 2
92090654351. 3
92090654352. 4

Question Number : 89 Question Id : 92090613759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hgeal: SO Ulharal YA YYfrd: HH ddd

A 3D TUR
B. al W= A
C. WR: fasy: digd
D. HONI& dIY:
E. SHARE
eI Ry ST S Rra—

1. ABGDE
2: GAEBD
3. DCAEB
4, CD.EBA

Options :

92090654353. 1
92090654354. 2
92090654355. 3
92090654356. 4

Question Number : 89 Question Id : 92090613759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hgeal: SO Ulharal YA YYfrd: HH ddd

A 3D TUR
B. al W= A
C. WR: fasy: digd
D. HONI& dIY:
E. SHARE
eI Ry ST S Rra—

1. ABGDE
2: GAEBD
3. DCAEB
4, CD.EBA

Options :

92090654353. 1
92090654354. 2
92090654355. 3
92090654356. 4

Question Number : 89 Question Id : 92090613759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hgeal: SO Ulharal YA YYfrd: HH ddd

A 3D TUR
B. al W= A
C. WR: fasy: digd
D. HONI& dIY:
E. SHARE
eI Ry ST S Rra—

1. ABGDE
2: GAEBD
3. DCAEB
4, CD.EBA

Options :

92090654353. 1
92090654354. 2
92090654355. 3
92090654356. 4

Question Number : 90 Question Id : 92090613760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A =il
B. d@dl
C W
D. HegHI
yyey fadpedy Sfrdan 3 Hgd—
1. ABCD
< i Y 5 57
3 CABB
4 DABC
Options :

92090654357. 1
92090654358. 2
92090654359. 3
92090654360. 4

Question Number : 90 Question Id : 92090613760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHTYHSSNIE] WhTef g0 Tgfdyar: &: HH:?

A T

B. d&dl

C W

D. WHeHI

gy fahedy IfIdanH I fd—

1. ABCD

2. BEBIA

3. CADB

4 DABC



Options :

92090654357. 1
92090654358. 2
92090654359. 3
92090654360. 4

Question Number : 90 Question Id : 92090613760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHAYHSSNI] TRl Tgfdears: &: BH:?

A Tl
B. d@dl
C. W
D. HEHI
3fe:ey fasedy Ifrdaany o fegd—
1. ABCD
2. D.CBA
3. CAD,B
4. D.ABE
Options :

92090654357. 1
92090654358. 2
92090654359. 3
92090654360. 4

Question Number : 91 Question Id : 92090613761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIIHRUHURIR 1 &: HH: Uifda:?

A URWEH
B. JSHIg:
C. Seddl
D. 3y
. SUTERAH
SHeE Y ey SR R R —

1. ABLCDE
2 ‘BB AD
3. ABDLCE

4. B, CEDA

Options :

92090654361. 1
92090654362. 2
92090654363. 3
92090654364. 4

Question Number : 91 Question Id : 92090613761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIIHRUHURIR 1 &: HH: Uifda:?

A URWEH
B. JSHIg:
C. Seddl
D. 3y
. SUTERAH
SHeE Y ey SR R R —

1. ABLCDE
2 ‘BB AD
3. ABDLCE

4. B, CEDA

Options :

92090654361. 1
92090654362. 2
92090654363. 3
92090654364. 4

Question Number : 91 Question Id : 92090613761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIIHRUHURIR 1 &: HH: Uifda:?

A URWEH
B. JSHIg:
C. Seddl
D. 3y
. SUTERAH
SHeE Y ey SR R R —

1. ABLCDE
2 ‘BB AD
3. ABDLCE

4. B, CEDA

Options :

92090654361. 1
92090654362. 2
92090654363. 3
92090654364. 4

Question Number : 92 Question Id : 92090613762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HETHIS T 4T: e [UTHAR Y1, Tui &: &H:?

A gF e
B. 3ifdgiw:
C. dSE::
D. TGS
E. gadiaq
StUTEY ey eI I e —

1. ABCDE
2. BADCE
3. CAEDB
4 EDCBA

Options :

92090654365. 1
92090654366. 2
92090654367. 3
92090654368. 4

Question Number : 92 Question Id : 92090613762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HETHIS T 4T: e [UTHAR Y1, Tui &: &H:?

A gF e
B. 3ifdgiw:
C. dSE::
D. TGS
E. gadiaq
StUTEY ey eI I e —

1. ABCDE
2. BADCE
3. CAEDB
4 EDCBA

Options :

92090654365. 1
92090654366. 2
92090654367. 3
92090654368. 4

Question Number : 92 Question Id : 92090613762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HETHIS T 4T: e [UTHAR Y1, Tui &: &H:?

A gF e
B. 3ifdgiw:
C. dSE::
D. TGS
E. gadiaq
StUTEY ey eI I e —

1. ABCDE
2. BADCE
3. CAEDB
4 EDCBA

Options :

92090654365. 1
92090654366. 2
92090654367. 3
92090654368. 4

Question Number : 93 Question Id : 92090613763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TyHi YT fediaan =1 98 daad—

i -
OIEEEE () | Frares
(B) | Uardfgdaay.. afdfy | (n |fgway
(€) | T T () | RifaguEtY:
(D) | ercera! Ty (v | feafase:
ity Ry SR e Reg—

1. (A(; (B)Y(1; (C)IV); (D))
2. (A(); (B (C(); (D-1IV)
3. (AHV); (B (CHD); (D))
4. (A (B)D); (C); (D)HIV)

Options :

92090654369. 1
92090654370. 2
92090654371. 3
92090654372. 4

Question Number : 93 Question Id : 92090613763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TyHi YT fediaan =1 98 daad—

i -
OIEEEE () | Frares
(B) | Uardfgdaay.. afdfy | (n |fgway
(€) | T T () | RifaguEtY:
(D) | ercera! Ty (v | feafase:
ity Ry SR e Reg—

1. (A(; (B)Y(1; (C)IV); (D))
2. (A(); (B (C(); (D-1IV)
3. (AHV); (B (CHD); (D))
4. (A (B)D); (C); (D)HIV)

Options :

92090654369. 1
92090654370. 2
92090654371. 3
92090654372. 4

Question Number : 93 Question Id : 92090613763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TyHi YT fediaan =1 98 daad—

i -
OIEEEE () | Frares
(B) | Uardfgdaay.. afdfy | (n |fgway
(€) | T T () | RifaguEtY:
(D) | ercera! Ty (v | feafase:
ity Ry SR e Reg—

1. (A(; (B)Y(1; (C)IV); (D))
2. (A(); (B (C(); (D-1IV)
3. (AHV); (B (CHD); (D))
4. (A (B)D); (C); (D)HIV)

Options :

92090654369. 1
92090654370. 2
92090654371. 3
92090654372. 4

Question Number : 94 Question Id : 92090613764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"uHi Y= fediaan =1 98 Aaad —

i e
(A) | RFPaAEH | () | Tod] PIE:
(B) | SipaEEREy | () | 9rER:
(C) | UIpaEEy | () | S
(D) | WHIUIGAHETH | (IV) | GSIURY:
Sfeg:gey fawedy Ifaaday 3w fagd—

T (A (B)I; (CH(); (D)IV)

2. (A-(n); (B)=(I1); (©—(1V); (D))
3. (A-AV); (B)(I): (C)—(); (D))
4. (A B)=(1); (C—(I); (D)-V)

Options :

92090654373. 1
92090654374. 2
92090654375. 3
92090654376. 4

Question Number : 94 Question Id : 92090613764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"uHi Y= fediaan =1 98 Aaad —

i e
(A) | RFPaAEH | () | Tod] PIE:
(B) | SipaEEREy | () | 9rER:
(C) | UIpaEEy | () | S
(D) | WHIUIGAHETH | (IV) | GSIURY:
Sfeg:gey fawedy Ifaaday 3w fagd—

T (A (B)I; (CH(); (D)IV)

2. (A-(n); (B)=(I1); (©—(1V); (D))
3. (A-AV); (B)(I): (C)—(); (D))
4. (A B)=(1); (C—(I); (D)-V)

Options :

92090654373. 1
92090654374. 2
92090654375. 3
92090654376. 4

Question Number : 94 Question Id : 92090613764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"uHi Y= fediaan =1 98 Aaad —

i e
(A) | RFPaAEH | () | Tod] PIE:
(B) | SipaEEREy | () | 9rER:
(C) | UIpaEEy | () | S
(D) | WHIUIGAHETH | (IV) | GSIURY:
Sfeg:gey fawedy Ifaaday 3w fagd—

T (A (B)I; (CH(); (D)IV)

2. (A-(n); (B)=(I1); (©—(1V); (D))
3. (A-AV); (B)(I): (C)—(); (D))
4. (A B)=(1); (C—(I); (D)-V)

Options :

92090654373. 1
92090654374. 2
92090654375. 3
92090654376. 4

Question Number : 95 Question Id : 92090613765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w1 T fecfan =ar 9 wegd —

T -
(A) | B faemed afa | ) | sFfifehd
(8) | fad ygrea () | IugefaufE:
(C) | T 3faii afa ) | Sieaad &
(D) | 3ff¥fct: FT (V) | SreTuasH
STy fqdwedy Iferdary I fgd—

T (A=) (B)=(1); (CQIV); (D))
2. (AD); (B)); (C)—(1); (DI(IV)
3. (AD; (B)(IV); (CIIN; (D))

4. (A (B)-(V); (C(); (D))

Options :

92090654377. 1
92090654378. 2
92090654379. 3
92090654380. 4

Question Number : 95 Question Id : 92090613765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w1 T fecfan =ar 9 wegd —

T -
(A) | B faemed afa | ) | sFfifehd
(8) | fad ygrea () | IugefaufE:
(C) | T 3faii afa ) | Sieaad &
(D) | 3ff¥fct: FT (V) | SreTuasH
STy fqdwedy Iferdary I fgd—

T (A=) (B)=(1); (CQIV); (D))
2. (AD); (B)); (C)—(1); (DI(IV)
3. (AD; (B)(IV); (CIIN; (D))

4. (A (B)-(V); (C(); (D))

Options :

92090654377. 1
92090654378. 2
92090654379. 3
92090654380. 4

Question Number : 95 Question Id : 92090613765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w1 T fecfan =ar 9 wegd —

T -
(A) | B faemed afa | ) | sFfifehd
(8) | fad ygrea () | IugefaufE:
(C) | T 3faii afa ) | Sieaad &
(D) | 3ff¥fct: FT (V) | SreTuasH
STy fqdwedy Iferdary I fgd—

T (A=) (B)=(1); (CQIV); (D))
2. (AD); (B)); (C)—(1); (DI(IV)
3. (AD; (B)(IV); (CIIN; (D))

4. (A (B)-(V); (C(); (D))

Options :

92090654377. 1
92090654378. 2
92090654379. 3
92090654380. 4

Question Number : 96 Question Id : 92090613766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | TUmgay () | ISty
(B) | FHdH () | FeTEdl gels I

(C) | uTe: IREIGE
(D) | WH (IV) | TSTIaeEH
31y:ueay fawedy Ifadans I Rgad—

T (A (B)ID; (C(1); (D)HIV)
2. (A=) (B)(1I); (1) (D)1
3. (A=) (B)=(l); (CIV); (D))
4. (A=) (B)IV); (CH(I); (DD

Options :

92090654381. 1
92090654382. 2
92090654383. 3
92090654384. 4

Question Number : 96 Question Id : 92090613766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | TUmgay () | ISty
(B) | FHdH () | FeTEdl gels I

(C) | uTe: IREIGE
(D) | WH (IV) | TSTIaeEH
31y:ueay fawedy Ifadans I Rgad—

T (A (B)ID; (C(1); (D)HIV)
2. (A=) (B)(1I); (1) (D)1
3. (A=) (B)=(l); (CIV); (D))
4. (A=) (B)IV); (CH(I); (DD

Options :

92090654381. 1
92090654382. 2
92090654383. 3
92090654384. 4

Question Number : 96 Question Id : 92090613766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) | TUmgay () | ISty
(B) | FHdH () | FeTEdl gels I

(C) | uTe: IREIGE
(D) | WH (IV) | TSTIaeEH
31y:ueay fawedy Ifadans I Rgad—

T (A (B)ID; (C(1); (D)HIV)
2. (A=) (B)(1I); (1) (D)1
3. (A=) (B)=(l); (CIV); (D))
4. (A=) (B)IV); (CH(I); (DD

Options :

92090654381. 1
92090654382. 2
92090654383. 3
92090654384. 4

Question Number : 97 Question Id : 92090613767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"yHi Y fediaar =1 98 daad —
- -
(A) |eRigRIs 8 | (1) | §AS<: UEH
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